

April 19, 2021

Commissioners Court Harris County, Texas

**RE:** Job No. 210059

Members of Commissioners Court:

Please approve the following award on the basis of low bid subject to applicable bond(s) to be received from the vendor(s):

**Description:** Road Reconstruction at Crosby-Lynchburg (Phase 3) between Magnolia Drive and

Lochness Drive for Harris County Precinct 2 – UPIN 17102MF0MV01

**Bid(s) Received:** Twelve (12) on April 05, 2021 (see attached)

**Vendor(s):** SER Construction Partners LLC

**Amount:** \$16,584,851

**Evaluated By:** • Harris County Purchasing • Office of the County Engineer

• Precinct 2

Purchase order(s) will be issued upon Commissioners Court approval.

Sincerely,

DeWight Dopslauf Purchasing Agent

Dehlsto Poper

MM

Attachment(s) cc: Vendor(s)

			SER Construction	Partners LLC 1	M	2U, LLC	Angel Brotl	hers Enterprises	Wade	Con, LLC	Lindsey	Construction	Main Lane l	ndustries, Ltd.	Texas Sterlin	ng Construction	ISI Contra	acting. Inc.	Triple B Se	ervices, L.L.P.	R Con	struction		onstruction oration	Fused Inc	dustries LLC
Item																										
No. Description  SITE PREPARATION AND EARTHWORK	UOM	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1 FURNISH, INSTALL, AND REMOVE HARRIS COUNTY PROJECT	EA	2	\$775.44	\$1,550.88	\$650.00	\$1,300.00	\$800.00	\$1,600.00	\$2,000.00	\$4,000.00	\$1,000.00	\$2,000.00	\$800.00	\$1,600.00	\$1,000.00	\$2,000.00	\$800.00	\$1,600.00	\$1,500.00	\$3,000.00	\$800.00	\$1,600.00	\$1,500.00	\$3,000.00	\$900.00	\$1,800.00
SIGN 2 CLEARING AND GRUBBING ROW (ROADWAY AND BASIN)	LS	1	\$830,000.00	\$830,000.00	\$3,000.00	\$3,000.00	\$900,000.00	\$900,000.00	\$1,900,000.00	\$1,900,000.00	\$338,000.00	\$338,000.00	\$600,000.00	\$600,000.00	\$200,000.00	\$200,000.00	\$1,250,000.00	\$1,250,000.00	\$585,000.00	\$585,000.00	\$675,000.00	\$675,000.00	\$2,143,831.00	\$2,143,831.00	\$632,814.25	\$632,814.25
3 ROADWAY EXCAVATION 4 REMOVE AND DISPOSE OF EXISTING ASPHALTIC SURFACE	CY SY	75,051 38,863	\$6.80 \$4.50	\$510,346.80 \$174.883.50	\$12.00 \$8.50	\$900,612.00 \$330,335.50	\$9.50 \$3.50	\$712,984.50 \$136.020.50	\$14.00 \$6.00	\$1,050,714.00 \$233,178.00	\$13.62 \$3.95	\$1,022,194.62 \$153.508.85	\$14.00 \$6.00	\$1,050,714.00 \$233,178.00	\$16.00 \$3.00	\$1,200,816.00 \$116,589.00	\$13.00 \$5.75	\$975,663.00 \$223.462.25	\$11.00 \$2.65	\$825,561.00 \$102,986.95	\$24.00 \$5.00	\$1,801,224.00 \$194,315.00	\$11.79 \$10.00	\$884,851.29 \$388,630.00	\$11.00 \$3.00	\$825,561.00 \$116,589.00
AND BASE MATERIAL		,	\$1.50	\$171,005.50	30.50		33.30	\$150,020.50	50.00	\$255,170.00	43.73	\$133,300.03	\$0.00	9255,170.00	\$3.00		\$3.73	,	92.03	\$102,700.75	\$5.00	3171,313.00	\$10.00	\$500,050.00	1 33.00	,
REMOVING OLD CONCRETE (SUB GRADE)     REMOVE AND DISPOSE OF EXISTING CONCRETE DRIVEWAY	SY SY	22,289 837	\$6.90 \$3.60	\$153,794.10 \$3,013.20	\$15.50 \$9.00	\$345,479.50 \$7,533.00	\$2.00 \$10.00	\$44,578.00 \$8,370.00	\$5.00 \$10.00	\$111,445.00 \$8,370.00	\$3.70 \$6.00	\$82,469.30 \$5,022.00	\$5.00 \$11.00	\$111,445.00 \$9,207.00	\$6.00 \$6.00	\$133,734.00 \$5,022.00	\$3.25 \$13.00	\$72,439.25 \$10,881.00	\$3.50 \$4.50	\$78,011.50 \$3,766.50	\$5.00 \$5.00	\$111,445.00 \$4,185.00	\$4.60 \$3.20	\$102,529.40 \$2,678.40	\$6.00 \$20.00	\$133,734.00 \$16,740.00
5A REMOVE AND DISPOSE OF EXISTING CONCRETE (CONCRETE CHANNEL LINING)	SY	250	\$5.40	\$1,350.00	\$12.00	\$3,000.00	\$10.00	\$2,500.00	\$10.00	\$2,500.00	\$7.00	\$1,750.00	\$6.00	\$1,500.00	\$3.00	\$750.00	\$13.00	\$3,250.00	\$4.00	\$1,000.00	\$10.00	\$2,500.00	\$5.96	\$1,490.00	\$5.00	\$1,250.00
5B REMOVE AND DISPOSE OF EXISTING CONCRETE (RIP RAP)	SY	690	\$15.60	\$10,764.00	\$4.00	\$2,760.00	\$10.00	\$6,900.00	\$5.00	\$3,450.00	\$6.00	\$4,140.00	\$9.00	\$6,210.00	\$3.00	\$2,070.00	\$13.00	\$8,970.00	\$6.15	\$4,243.50	\$10.00	\$6,900.00	\$3.20	\$2,208.00	\$5.00	\$3,450.00
6 REMOVE AND DISPOSE OF EXISTING CONCRETE OR METAL	LF	5,302	\$28.80	\$152,697.60	\$8.50	\$45,067.00	\$10.00	\$53,020.00	\$20.00	\$106,040.00	\$36.00	\$190,872.00	\$15.00	\$79,530.00	\$16.00	\$84,832.00	\$26.00	\$137,852.00	\$17.50	\$92,785.00	\$15.00	\$79,530.00	\$35.00	\$185,570.00	\$30.00	\$159,060.00
PIPE (ALL SIZES) 7 REMOVING OLD STRUCTURES - MANHOLES (ALL DEPTHS)	EA	5	\$518.00	\$2,590.00	\$400.00	\$2,000.00	\$525.00	\$2,625.00	\$500.00	\$2,500.00	\$1,200.00	\$6,000.00	\$600.00	\$3,000.00	\$250.00	\$1,250.00	\$970.00	\$4,850.00	\$925.00	\$4,625.00	\$1,000.00	\$5,000.00	\$672.06	\$3,360.30	\$500.00	\$2,500.00
7A REMOVING OLD STRUCTURES - INLETS (ALL DEPTHS)	EA	21	\$500.00	\$10,500.00	\$400.00	\$8,400.00	\$525.00	\$11,025.00	\$500.00	\$10,500.00	\$750.00	\$15,750.00	\$750.00	\$15,750.00	\$250.00	\$5,250.00	\$975.00	\$20,475.00	\$835.00	\$17,535.00	\$600.00	\$12,600.00	\$669.23	\$14,053.83	\$180.00	\$3,780.00
8 REMOVING OLD STRUCTURES - WINGWALLS	LS LS	1	\$9,400.00 \$6,300.00	\$9,400.00	\$5,000.00 \$2,000.00	\$5,000.00 \$2,000.00	\$8,000.00 \$1,400.00	\$8,000.00 \$1,400.00	\$5,000.00 \$500.00	\$5,000.00 \$500.00	\$18,000.00 \$2,000.00	\$18,000.00	\$30,000.00	\$30,000.00 \$50,000.00	\$11,000.00 \$850.00	\$11,000.00 \$850.00	\$8,000.00 \$1,000.00	\$8,000.00 \$1,000.00	\$18,000.00 \$2,000.00	\$18,000.00	\$15,000.00 \$3,000.00	\$15,000.00	\$10,612.81 \$12,000.00	\$10,612.81	\$40,500.00 \$7,600.00	\$40,500.00
9 REMOVE & RELOCATE TRAFFIC SIGNS, MAIL BOXES AND ROADWAY SIGNS 10 REMOVE EXISTING FLEXBEAM GUARDRAIL	LS	298	\$6,300.00	\$6,300.00 \$566.20	\$2,000.00	\$2,000.00	\$1,400.00	\$1,400.00	\$5.00	\$1,490.00	\$2,000.00	\$2,000.00 \$596.00	\$50,000.00 \$5.00	\$1,490.00	\$850.00	\$596.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00 \$2,533.00	\$3,000.00	\$3,000.00 \$2,384.00	\$12,000.00	\$12,000.00 \$894.00	\$7,600.00	\$7,600.00 \$2,086.00
11 INSTALLATION OF FLEX BEAM GUARDRAIL W/ MOW STRIP	LF	400	\$71.00	\$28,400.00	\$33.75	\$13,500.00	\$72.00	\$28,800.00	\$40.00	\$16,000.00	\$36.00	\$14,400.00	\$50.00	\$20,000.00	\$65.00	\$26,000.00	\$35.00	\$14,000.00	\$47.00	\$18,800.00	\$45.00	\$18,000.00	\$47.07	\$18,828.00	\$48.00	\$19,200.00
12 INSTALLATION OF FLEX BEAM GUARDRAIL TERMINAL SECTION	EA	4	\$1,200.00	\$4,800.00	\$1,500.00	\$6,000.00	\$3,100.00	\$12,400.00	\$2,000.00	\$8,000.00	\$1,200.00	\$4,800.00	\$1,500.00	\$6,000.00	\$1,100.00	\$4,400.00	\$475.00	\$1,900.00	\$2,800.00	\$11,200.00	\$3,000.00	\$12,000.00	\$247.43	\$989.72	\$1,900.00	\$7,600.00
Sub Total				\$1,900,956.28	1	\$1,677,030.00		\$1,930,819.00		\$3,463,687.00		\$1,861,502.77		\$2,219,624.00	1	\$1,795,159.00		\$2,734,789.50		\$1,771,047.45		\$2,944,683.00		\$3,775,526.75	ı '	\$1,974,264.25
SUBGRADE AND PAYING 13 HYDRATED LIME (SLURRY) OR COMMERCIAL LIME SLURRY (3% BY DRY WEIGHT)	TON	899	\$189.00	\$169,911.00	\$180.00	\$161,820.00	\$187.00	\$168,113.00	\$190.00	\$170,810.00	\$197.00	\$177,103.00	\$175.00	\$157,325.00	\$190.00	\$170,810.00	\$189.00	\$169,911.00	\$138.00	\$124,062.00	\$200.00	\$179,800.00	\$182.09	\$163,698.91	\$185.00	\$166,315.00
(5% BY DRY WEIGHT)  14 FLY ASH (7% BY DRY WEIGHT)  15 ILIME/FLY ASH STABILIZED SUBGRADE. 8-INCH THICK	TON SY	2,097 83,508	\$93.00 \$3.45	\$195,021.00 \$288.102.60	\$125.00 \$5.50	\$262,125.00 \$459,294.00	\$101.00 \$3.70	\$211,797.00 \$308,979.60	\$90.00 \$2.00	\$188,730.00 \$167.016.00	\$91.00 \$3.25	\$190,827.00 \$271,401.00	\$103.00 \$3.00	\$215,991.00 \$250.524.00	\$100.00 \$6.00	\$209,700.00 \$501.048.00	\$100.00 \$3.15	\$209,700.00 \$263.050.20	\$138.00 \$4.40	\$289,386.00 \$367,435.20	\$105.00 \$4.00	\$220,185.00 \$334,032.00	\$101.24 \$6.00	\$212,300.28 \$501.048.00	\$105.00 \$7.00	\$220,185.00 \$584,556.00
16 HOT MIX ASPHALT CONCRETE BASE COURSE (BLACK BASE),	TON	1,263	\$117.00	\$147,771.00	\$225.00	\$284,175.00	\$60.00	\$75,780.00	\$90.00	\$113,670.00	\$100.00	\$126,300.00	\$130.00	\$164,190.00	\$84.00	\$106,092.00	\$100.00	\$126,300.00	\$94.00	\$118,722.00	\$100.00	\$126,300.00	\$73.64	\$93,007.32	\$115.00	\$145,245.00
8" DEPTH, MAXIMUM 4" LIFTS 17 PRIME COAT FOR BASE COURSE (0.30GAL/SY)	GAL.	1,192	\$5.40	\$6,436.80	\$1.99	\$2,372.08	\$5.00	\$5,960.00	\$5.00	\$5,960.00	\$2.70	\$3,218.40	\$3.00	\$3,576.00	\$2.50	\$2,980.00	\$4.00	\$4,768.00	\$2.80	\$3,337.60	\$9.00	\$10,728.00	\$2.57	\$3,063.44	\$6.00	\$7,152.00
18 HMAC TYPE "D" SURFACE COURSE, 2" DEPTH	TON	280	\$135.00	\$37,800.00	\$125.00	\$35,000.00	\$175.00	\$49,000.00	\$130.00	\$36,400.00	\$108.00	\$30,240.00	\$130.00	\$36,400.00	\$98.00	\$27,440.00	\$105.00	\$29,400.00	\$109.00	\$30,520.00	\$125.00	\$35,000.00	\$100.66	\$28,184.80	\$150.00	\$42,000.00
19 HMAC TYPE "D" SURFACE COURSE, 2.5" DEPTH	TON	45	\$324.00	\$14,580.00	\$125.00	\$5,625.00	\$125.00	\$5,625.00	\$140.00	\$6,300.00	\$108.00	\$4,860.00	\$180.00	\$8,100.00	\$98.00	\$4,410.00	\$200.00	\$9,000.00	\$109.00	\$4,905.00	\$200.00	\$9,000.00	\$100.66	\$4,529.70	\$160.00	\$7,200.00
20 HMAC - TACK COAT (0.15GAL/SY) 21 10" REINFORCED CONCRETE PAVEMENT	GAL SY	596 70.184	\$5.40 \$55.50	\$3,218.40 \$3,895.212.00	\$1.99 \$52.57	\$1,186.04 \$3,689,572.88	\$5.00 \$62.00	\$2,980.00 \$4.351.408.00	\$5.00 \$60.00	\$2,980.00 \$4,211.040.00	\$2.70 \$57.06	\$1,609.20 \$4,004.699.04	\$5.00 \$60.00	\$2,980.00 \$4.211.040.00	\$2.50 \$66.00	\$1,490.00 \$4.632.144.00	\$8.00 \$63.00	\$4,768.00 \$4,421.592.00	\$2.80 \$61.50	\$1,668.80 \$4,316,316.00	\$10.00 \$64.00	\$5,960.00 \$4,491.776.00	\$2.57 \$52.75	\$1,531.72 \$3,702,206,00	\$15.00 \$77.76	\$8,940.00 \$5,457,507.84
22 10" THICK HES CONCRETE DRIVEWAY	SY	427	\$85.20	\$36,380.40	\$70.00	\$29,890.00	\$98.00	\$41,846.00	\$70.00	\$29,890.00	\$77.00	\$32,879.00	\$85.00	\$36,295.00	\$91.00	\$38,857.00	\$115.00	\$49,105.00	\$220.00	\$93,940.00	\$98.00	\$41,846.00	\$150.31	\$64,182.37	\$110.00	\$46,970.00
23 6" THICK HES CONCRETE DRIVEWAY 24 6" CONCRETE CURB	SY LF	3,465	\$63.50 \$3.10	\$220,027.50 \$68,534.80	\$60.00 \$4.75	\$207,900.00 \$105.013.00	\$71.00 \$3.00	\$246,015.00 \$66,324.00	\$60.00 \$3.00	\$207,900.00	\$56.00	\$194,040.00 \$48,637.60	\$80.00 \$2.50	\$277,200.00 \$55,270.00	\$56.00 \$3.00	\$194,040.00	\$106.00 \$3.50	\$367,290.00 \$77.378.00	\$125.00	\$433,125.00 \$92.853.60	\$60.00 \$3.50	\$207,900.00 \$77,378.00	\$114.80 \$5.23	\$397,782.00 \$115,624.84	\$81.00 \$4.75	\$280,665.00 \$105.013.00
25 4" X12" ROLLBACK CURB	LF LF	22,108 325	\$3.10 \$3.20	\$68,534.80	\$4.75 \$5.75	\$105,013.00	\$3.00	\$66,324.00	\$3.00 \$4.00	\$66,324.00 \$1,300.00	\$2.20 \$2.20	\$48,637.60	\$2.50 \$5.00	\$55,270.00 \$1.625.00	\$3.00	\$66,324.00 \$11,375.00	\$3.50	\$2,275.00	\$4.20 \$6.00	\$1,950.00	\$3.50 \$3.50	\$1,137,50	\$5.23 \$7.94	\$115,624.84	\$4.75 \$5.00	\$105,013.00
26 MONOLITHIC CONCRETE CURB AND GUTTER	LF	433	\$18.10	\$7,837.30	\$5.25	\$2,273.25	\$46.00	\$19,918.00	\$40.00	\$17,320.00	\$22.00	\$9,526.00	\$22.00	\$9,526.00	\$17.00	\$7,361.00	\$26.00	\$11,258.00	\$15.50	\$6,711.50	\$40.00	\$17,320.00	\$27.57	\$11,937.81	\$14.00	\$6,062.00
26A 6" SLOTTED CURB	LF	180	\$5.00 \$48.00	\$900.00 \$241.008.00	\$6.25 \$50.00	\$1,125.00	\$11.00 \$62.00	\$1,980.00 \$311.302.00	\$10.00 \$50.00	\$1,800.00 \$251.050.00	\$2.20 \$37.00	\$396.00 \$185.777.00	\$13.00 \$55.00	\$2,340.00 \$276.155.00	\$25.00 \$60.00	\$4,500.00 \$301.260.00	\$26.00 \$48.00	\$4,680.00 \$241.008.00	\$8.00 \$52.00	\$1,440.00 \$261.092.00	\$10.00 \$58.00	\$1,800.00 \$291.218.00	\$7.11 \$74.35	\$1,279.80	\$14.00 \$67.00	\$2,520.00 \$336.407.00
27 4-1/2" CONCRETE SIDEWALK 28 FURNISH AND INSTALL TYPE 9 WHEELCHAIR RAMP	SY EA	5,021	\$48.00 \$1.200.00	\$241,008.00	\$1,000.00	\$251,050.00 \$2,000.00	\$62.00	\$311,302.00	\$50.00	\$251,050.00	\$37.00	\$185,777.00	\$55.00	\$5,000.00	\$2,000.00	\$4,000.00	\$48.00	\$3,000.00	\$52.00 \$1.115.00	\$2,230.00	\$2,300,00	\$291,218.00	\$74.35	\$373,311.35 \$5.047.70	\$67.00	\$336,407.00
29 FURNISH AND INSTALL TYPE 7 WHEELCHAIR RAMP	EA	4	\$1,150.00	\$4,600.00	\$1,000.00	\$4,000.00	\$1,400.00	\$5,600.00	\$1,000.00	\$4,000.00	\$1,200.00	\$4,800.00	\$1,800.00	\$7,200.00	\$2,100.00	\$8,400.00	\$1,500.00	\$6,000.00	\$1,115.00	\$4,460.00	\$1,500.00	\$6,000.00	\$2,800.00	\$11,200.00	\$900.00	\$3,600.00
30 FURNISH AND INSTALL TYPE 3 WHEELCHAIR RAMP Sub Total	EA	1	\$2,000.00	\$2,000.00 \$5,342,780.80	\$1,000.00	\$1,000.00 \$5,507,290.00	\$1,800.00	\$1,800.00 \$5,878,467.60	\$1,000.00	\$1,000.00 \$5,485,490.00	\$1,200.00	\$1,200.00 \$5,290,628,24	\$2,500.00	\$2,500.00 \$5,723,237.00	\$2,100.00	\$2,100.00 \$6,294.331.00	\$1,500.00	\$1,500.00 \$6,001.983.20	\$1,115.00	\$1,115.00 \$6,155,269.70	\$2,200.00	\$2,200.00 \$6,064,180.50	\$2,441.13	\$2,441.13 \$5,694,957,67	\$1,300.00	\$1,300.00 \$7,425,222.84
DRAINAGE				95,512,700.00	1	95,507,250.00	1	\$5,070,107.00		95,105,150.00		93,270,020.21		93,723,237.00	1	90,271,331.00		90,001,703.20		90,155,207.70		\$0,001,100.50		95,051,557.07	1 '	ψ1,123,222.01
31 STRUCTURAL CONCRETE, WINGWALLS	CY	27	\$1,300.00	\$35,100.00	\$1,250.00	\$33,750.00	\$1,000.00	\$27,000.00	\$1,500.00	\$40,500.00	\$1,800.00	\$48,600.00	\$3,500.00	\$94,500.00	\$1,300.00	\$35,100.00	\$852.00	\$23,004.00	\$1,100.00	\$29,700.00	\$1,000.00	\$27,000.00	\$2,000.00	\$54,000.00	\$1,800.00	\$48,600.00
32 CONCRETE HEADWALL	CY	8	\$1,200.00	\$9,600.00	\$1,250.00	\$10,000.00	\$925.00	\$7,400.00	\$2,500.00	\$20,000.00	\$1,800.00	\$14,400.00	\$1,600.00	\$12,800.00	\$1,600.00	\$12,800.00	\$1,000.00	\$8,000.00	\$1,115.00	\$8,920.00	\$1,000.00	\$8,000.00	\$1,943.43	\$15,547.44	\$1,800.00	\$14,400.00
33 TRENCH SAFETY SYSTEM (5' TO 10') 34 TRENCH SAFETY SYSTEM (10' TO 15')	LF LF	5,531 6,941	\$0.11 \$0.11	\$608.41 \$763.51	\$2.00 \$5.00	\$11,062.00 \$34.705.00	\$1.50 \$1.65	\$8,296.50 \$11,452.65	\$1.00 \$5.00	\$5,531.00 \$34.705.00	\$1.00 \$1.00	\$5,531.00 \$6,941.00	\$1.00 \$1.50	\$5,531.00 \$10,411.50	\$1.00 \$1.00	\$5,531.00 \$6,941.00	\$5.00 \$10.00	\$27,655.00 \$69,410.00	\$1.00 \$75.00	\$5,531.00 \$520,575.00	\$0.10 \$0.10	\$553.10 \$694.10	\$9.84 \$7.84	\$54,425.04 \$54,417.44	\$5.00 \$5.00	\$27,655.00 \$34.705.00
35 REINFORCED CONCRETE PIPE, C76, CL III, RUBBER GASKET	LF	4,277	\$84.00	\$359,268.00	\$91.50	\$391,345.50	\$81.00	\$346,437.00	\$75.00	\$320,775.00	\$85.00	\$363,545.00	\$95.00	\$406,315.00	\$96.00	\$410,592.00	\$77.00	\$329,329.00	\$94.00	\$402,038.00	\$90.00	\$384,930.00	\$109.54	\$468,502.58	\$85.00	\$363,545.00
(24") 36 REINFORCED CONCRETE PIPE, C76, CL III, RUBBER GASKET	LF	1,101	\$109.00	\$120,009.00	\$116.55	\$128,321.55	\$106.00	\$116,706.00	\$96.00	\$105,696.00	\$90.00	\$99,090.00	\$130.00	\$143,130.00	\$137.00	\$150,837.00	\$105.00	\$115,605.00	\$113.00	\$124,413.00	\$98.00	\$107,898.00	\$200.00	\$220,200.00	\$125.00	\$137,625.00
(30") 37 REINFORCED CONCRETE PIPE, C76, CL III, RUBBER GASKET	LF	562	\$134.00	\$75,308.00	\$155.81	\$87,565.22	\$140.00	\$78,680.00	\$140.00	\$78,680.00	\$125.00	\$70,250.00	\$150.00	\$84,300.00	\$166.00	\$93,292.00	\$132.00	\$74,184.00	\$147.00	\$82,614.00	\$125.00	\$70,250.00	\$150.69	\$84,687.78	\$150.00	\$84,300.00
(36") 38 REINFORCED CONCRETE PIPE, C76, CL III, RUBBER GASKET (42")	LF	179	\$183.00	\$32,757.00	\$195.17	\$34,935.43	\$188.00	\$33,652.00	\$180.00	\$32,220.00	\$155.00	\$27,745.00	\$225.00	\$40,275.00	\$236.00	\$42,244.00	\$362.00	\$64,798.00	\$190.00	\$34,010.00	\$170.00	\$30,430.00	\$195.43	\$34,981.97	\$235.00	\$42,065.00
39 REINFORCED CONCRETE PIPE, C76, CL III, RUBBER GASKET	LF	436	\$207.00	\$90,252.00	\$224.31	\$97,799.16	\$220.00	\$95,920.00	\$210.00	\$91,560.00	\$180.00	\$78,480.00	\$280.00	\$122,080.00	\$280.00	\$122,080.00	\$239.00	\$104,204.00	\$350.00	\$152,600.00	\$195.00	\$85,020.00	\$254.30	\$110,874.80	\$305.00	\$132,980.00
40 REINFORCED CONCRETE PIPE, C76, CL III, RUBBER GASKET (48") BY TRENCHLESS CONSTRUCTION	LF	262	\$817.00	\$214,054.00	\$128.70	\$33,719.40	\$882.00	\$231,084.00	\$1,000.00	\$262,000.00	\$1,085.00	\$284,270.00	\$950.00	\$248,900.00	\$900.00	\$235,800.00	\$1,150.00	\$301,300.00	\$1,000.00	\$262,000.00	\$800.00	\$209,600.00	\$1,500.00	\$393,000.00	\$1,100.00	\$288,200.00
41 REINFORCED CONCRETE PIPE, C76, CL III, RUBBER GASKET (54")	LF	140	\$285.00	\$39,900.00	\$297.53	\$41,654.20	\$283.00	\$39,620.00	\$306.00	\$42,840.00	\$250.00	\$35,000.00	\$330.00	\$46,200.00	\$360.00	\$50,400.00	\$280.00	\$39,200.00	\$310.00	\$43,400.00	\$280.00	\$39,200.00	\$316.15	\$44,261.00	\$355.00	\$49,700.00
42 CORRUGATED METAL PIPE-PRE-COATED-GALVANIZED (16 GAUGE) (24")	LF	784	\$90.00	\$70,560.00	\$38.55	\$30,223.20	\$69.00	\$54,096.00	\$70.00	\$54,880.00	\$62.00	\$48,608.00	\$90.00	\$70,560.00	\$85.00	\$66,640.00	\$92.00	\$72,128.00	\$90.00	\$70,560.00	\$70.00	\$54,880.00	\$92.91	\$72,841.44	\$80.00	\$62,720.00
43 CORRUGATED METAL PIPE-PRE-COATED-GALVANIZED (16 GAUGE) (36")	LF	25	\$146.00	\$3,650.00	\$69.45	\$1,736.25	\$103.00	\$2,575.00	\$100.00	\$2,500.00	\$89.00	\$2,225.00	\$175.00	\$4,375.00	\$130.00	\$3,250.00	\$102.00	\$2,550.00	\$120.00	\$3,000.00	\$95.00	\$2,375.00	\$156.01	\$3,900.25	\$130.00	\$3,250.00
44 CORRUGATED METAL PIPE-PRE-COATED-GALVANIZED (16 GAUGE) (54") 45 DRICA AT ROP (41.X-2) (ASTACAGAZ)	LF	101	\$244.00	\$24,644.00	\$108.98	\$11,006.98	\$182.00	\$18,382.00	\$150.00	\$15,150.00	\$161.00	\$16,261.00	\$150.00	\$15,150.00	\$235.00	\$23,735.00	\$170.00	\$17,170.00	\$185.00	\$18,685.00	\$175.00	\$17,675.00	\$186.36	\$18,822.36	\$190.00	\$19,190.00
45 PRECAST RCB (4' X 3') (ASTM C1433) 46 PRECAST RCB (4' X 4') (ASTM C1433)	LF LF	269 545	\$258.00 \$287.00	\$69,402.00 \$156,415.00	\$224.50 \$254.98	\$60,390.50 \$138,964.10	\$275.00 \$306.00	\$73,975.00 \$166,770.00	\$280.00 \$310.00	\$75,320.00 \$168,950.00	\$265.00 \$275.00	\$71,285.00 \$149,875.00	\$305.00 \$320.00	\$82,045.00 \$174,400.00	\$340.00 \$350.00	\$91,460.00 \$190,750.00	\$276.00 \$305.00	\$74,244.00 \$166,225.00	\$300.00 \$325.00	\$80,700.00 \$177,125.00	\$270.00 \$285.00	\$72,630.00 \$155,325.00	\$351.61 \$362.16	\$94,583.09 \$197,377.20	\$305.00 \$365.00	\$82,045.00 \$198,925.00

				ann a	n					***						m 0. 11		****							onstruction		
Item		1		SER Construction	Partners LLC	M2	U, LLC	Angel Broth	ers Enterprises	Wade	Con, LLC	Lindsey	Construction	Main Lane I	ndustries, Ltd.	Texas Sterlin	g Construction	ISI Contr	racting, Inc.	Triple B S	ervices, L.L.P.	R Cons	struction	Corp	oration	Fused Inc	dustries LLC
No.	Description  PDECLACE DODGE (SLV 4) (ACTIVACIONAL)	UOM	Quantity	Unit Price	Total Price																						
48	PRECAST RCB (5' X 4') (ASTM C1433) PRECAST RCB (6' X 3') (ASTM C1433)	LF LF	1,200 339	\$350.00 \$383.00	\$420,000.00 \$129.837.00	\$324.20 \$346.55	\$389,040.00 \$117,480.45	\$367.00 \$397.00	\$440,400.00 \$134.583.00	\$375.00 \$450.00	\$450,000.00 \$152,550.00	\$330.00 \$365.00	\$396,000.00 \$123,735.00	\$330.00 \$440.00	\$396,000.00 \$149,160.00	\$420.00 \$450.00	\$504,000.00 \$152,550.00	\$362.00 \$412.00	\$434,400.00 \$139,668.00	\$395.00 \$450.00	\$474,000.00 \$152,550.00	\$435.00 \$390.00	\$522,000.00 \$132,210.00	\$405.04 \$462.26	\$486,048.00 \$156,706.14	\$440.00 \$485.00	\$528,000.00 \$164,415.00
49	PRECAST RCB (6 X 4') (ASTM C1433)	LF	2,450	\$427.00	\$1,046,150.00	\$412.92	\$1,011,654.00	\$442.00	\$1,082,900.00	\$460.00	\$1,127,000.00	\$450.00	\$1,102,500.00	\$470.00	\$1,151,500.00	\$500.00	\$1,225,000.00	\$489.00	\$1,198,050.00	\$475.00	\$1,163,750.00	\$515.00	\$1,261,750.00	\$497.54	\$1,218,973.00	\$525.00	\$1,286,250.00
50	PRECAST RCB (7' X 3') (ASTM C1433)	LF	490	\$460.00	\$225,400.00	\$348.50	\$170,765.00	\$471.00	\$230,790.00	\$495.00	\$242,550.00	\$470.00	\$230,300.00	\$510.00	\$249,900.00	\$600.00	\$294,000.00	\$500.00	\$245,000.00	\$540.00	\$264,600.00	\$455.00	\$222,950.00	\$562.32	\$275,536.80	\$555.00	\$271,950.00
51	PRECAST RCB (6' X 5') (ASTM C1433)	LF	550	\$459.00	\$252,450.00	\$452.53	\$248,891.50	\$479.00	\$263,450.00	\$475.00	\$261,250.00	\$475.00	\$261,250.00	\$520.00	\$286,000.00	\$550.00	\$302,500.00	\$488.00	\$268,400.00	\$515.00	\$283,250.00	\$460.00	\$253,000.00	\$530.14	\$291,577.00	\$565.00	\$310,750.00
52	PRECAST RCB (7' X 5') (ASTM C1433) PRECAST RCB (7' X 5') (ASTM C1433) (BY TRENCHLESS	LF LF	1,175 83	\$550.00 \$1,365.00	\$646,250.00 \$113,295.00	\$557.35 \$490.00	\$654,886.25 \$40,670.00	\$555.00 \$1.800.00	\$652,125.00 \$149.400.00	\$565.00 \$2,500.00	\$663,875.00 \$207,500.00	\$550.00 \$1,600.00	\$646,250.00 \$132,800.00	\$650.00 \$2.500.00	\$763,750.00 \$207,500.00	\$625.00 \$1.500.00	\$734,375.00 \$124.500.00	\$564.00 \$3.800.00	\$662,700.00 \$315,400.00	\$640.00 \$1.900.00	\$752,000.00 \$157,700.00	\$580.00 \$1.700.00	\$681,500.00 \$141,100.00	\$623.61 \$2.300.00	\$732,741.75 \$190,900.00	\$680.00 \$2.500.00	\$799,000.00 \$207,500.00
33	CONSTRUCTION)	LI	0.5	\$1,505.00	\$113,293.00	3470.00	340,070.00	\$1,000.00	3149,400.00	\$2,500.00	3207,300.00	31,000.00	\$132,800.00	\$2,500.00	\$207,500.00	\$1,500.00	\$124,500.00	\$3,800.00	3313,400.00	\$1,700.00	\$157,700.00	\$1,700.00	3141,100.00	\$2,300.00	3190,900.00	\$2,300.00	\$207,300.00
54	PRECAST RCB (8' X 3') (ASTM C1433)	LF	682	\$525.00	\$358,050.00	\$584.65	\$398,731.30	\$540.00	\$368,280.00	\$540.00	\$368,280.00	\$520.00	\$354,640.00	\$600.00	\$409,200.00	\$650.00	\$443,300.00	\$550.00	\$375,100.00	\$650.00	\$443,300.00	\$520.00	\$354,640.00	\$603.56	\$411,627.92	\$620.00	\$422,840.00
55	PRECAST RCB (7' X 3') 30 DEGREE BENDS (ASTM C1433)	EA	1	\$3,755.00	\$3,755.00	\$385.00	\$385.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$1,500.00	\$1,500.00	\$2,900.00	\$2,900.00	\$9,860.00	\$9,860.00	\$2,000.00	\$2,000.00	\$4,597.97	\$4,597.97	\$5,300.00	\$5,300.00
56	4'X4' PRECAST CONCRETE JUCTION BOX 6'X6' PRECAST CONCRETE JUNCTION BOX	EA EA	1 2	\$3,485.00 \$6,200.00	\$3,485.00 \$12,400.00	\$4,183.64 \$9,232.26	\$4,183.64 \$18.464.52	\$2,800.00 \$4,900.00	\$2,800.00	\$4,000.00 \$5,000.00	\$4,000.00 \$10,000.00	\$2,600.00 \$5,800.00	\$2,600.00 \$11.600.00	\$5,000.00 \$10,000.00	\$5,000.00 \$20,000.00	\$5,100.00 \$7,500.00	\$5,100.00 \$15,000.00	\$2,900.00 \$7,700.00	\$2,900.00 \$15,400.00	\$4,800.00	\$4,800.00 \$22,000.00	\$5,000.00 \$7,000.00	\$5,000.00 \$14,000.00	\$5,767.18 \$9,141.65	\$5,767.18 \$18.283.30	\$2,700.00 \$6,000.00	\$2,700.00 \$12,000.00
58	7'X7' PRECAST CONCRETE JUNCTION BOX	EA	1	\$10,420.00	\$10,420.00	\$9,687.12	\$9,687.12	\$12,000.00	\$12,000.00	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00	\$16,000.00	\$16,000.00	\$16.500.00	\$16,500.00	\$10,100.00	\$10,100.00	\$14,000.00	\$14,000.00	\$14,000.00	\$14,000.00	\$13,093,51	\$13,093.51	\$13,200.00	\$13,200.00
59	8'X8' PRECAST CONCRETE JUNCTION BOX	EA	4	\$12,400.00	\$49,600.00	\$12,966.34	\$51,865.36	\$14,000.00	\$56,000.00	\$7,500.00	\$30,000.00	\$12,000.00	\$48,000.00	\$18,000.00	\$72,000.00	\$20,000.00	\$80,000.00	\$14,000.00	\$56,000.00	\$16,000.00	\$64,000.00	\$16,000.00	\$64,000.00	\$15,357.89	\$61,431.56	\$16,000.00	\$64,000.00
60	9'x9' PRECAST CONCRETE JUNCTION BOX	EA	7	\$14,600.00	\$102,200.00	\$14,456.53	\$101,195.71	\$15,500.00	\$108,500.00	\$10,000.00	\$70,000.00	\$14,000.00	\$98,000.00	\$27,000.00	\$189,000.00	\$25,000.00	\$175,000.00	\$16,000.00	\$112,000.00	\$19,000.00	\$133,000.00	\$18,000.00	\$126,000.00	\$17,405.12	\$121,835.84	\$18,700.00	\$130,900.00
61	10'x10' PRECAST CONCRETE JUNCTION BOX 13'x13' PRECAST CONCRETE JUNCTION BOX	EA EA	1	\$18,000.00 \$30,760.00	\$18,000.00 \$61,520.00	\$15,986.87 \$21,075.98	\$15,986.87 \$42,151.96	\$17,000.00 \$25,000.00	\$17,000.00 \$50,000.00	\$15,000.00 \$20,000.00	\$15,000.00 \$40,000.00	\$17,000.00 \$31,000.00	\$17,000.00 \$62,000.00	\$30,000.00 \$60,000.00	\$30,000.00 \$120,000.00	\$29,000.00 \$40,000.00	\$29,000.00 \$80,000.00	\$18,000.00 \$26,000.00	\$18,000.00 \$52,000.00	\$25,000.00 \$34,000.00	\$25,000.00 \$68,000.00	\$19,000.00 \$28,000.00	\$19,000.00 \$56,000.00	\$20,007.88 \$34,387,38	\$20,007.88 \$68,774.76	\$19,700.00 \$32,600.00	\$19,700.00 \$65,200.00
63	S.E.T. (TYPE I)(4'X3')(RCB)(3:1) W/ PIPE RUNNERS	EA	1	\$6,070.00	\$6,070.00	\$990.00	\$990.00	\$5,600.00	\$5,600.00	\$5,000.00	\$5,000.00	\$7,200.00	\$7,200.00	\$12,000.00	\$12,000.00	\$6,500.00	\$6,500.00	\$5,300.00	\$5,300.00	\$5.735.00	\$5,735.00	\$6,000.00	\$6,000.00	\$4,865.05	\$4.865.05	\$6,100.00	\$6,100.00
	S.E.T. (TYPE II)(24")(RCP)(6:1) W/ PIPE RUNNERS	EA	36	\$2,165.00	\$77,940.00	\$1,583.70	\$57,013.20	\$1,900.00	\$68,400.00	\$2,000.00	\$72,000.00	\$2,300.00	\$82,800.00	\$3,000.00	\$108,000.00	\$2,000.00	\$72,000.00	\$1,700.00	\$61,200.00	\$2,420.00	\$87,120.00	\$2,300.00	\$82,800.00	\$3,027.82	\$109,001.52	\$2,000.00	\$72,000.00
65	S.E.T. (TYPE II)(30")(RCP)(6:1) W/ PIPE RUNNERS	EA	1	\$2,920.00	\$2,920.00	\$2,668.87	\$2,668.87	\$2,800.00	\$2,800.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$3,300.00	\$3,300.00	\$3,100.00	\$3,100.00	\$3,896.69	\$3,896.69	\$2,900.00	\$2,900.00
66	TYPE A INLET	EA	2	\$2,170.00 \$2,370.00	\$4,340.00 \$35,550.00	\$3,524.43	\$7,048.86	\$1,800.00 \$3,300.00	\$3,600.00 \$49,500.00	\$3,000.00 \$5,000.00	\$6,000.00 \$75,000.00	\$1,800.00	\$3,600.00 \$33,000.00	\$2,800.00	\$5,600.00 \$97,500.00	\$3,100.00 \$7,000.00	\$6,200.00 \$105,000.00	\$1,500.00 \$4,000.00	\$3,000.00	\$2,100.00	\$4,200.00 \$17,250.00	\$2,400.00 \$3,500.00	\$4,800.00 \$52,500.00	\$4,305.00	\$8,610.00	\$1,500.00	\$3,000.00
68	MODIFIED TYPE A INLET TYPE C-1 INLET	EA EA	15 49	\$2,370.00 \$3,830.00	\$35,550.00 \$187,670.00	\$2,458.95 \$3,654.56	\$36,884.25 \$179,073,44	\$3,300.00 \$4,400.00	\$49,500.00 \$215,600.00	\$5,000.00	\$75,000.00	\$2,200.00 \$4,000.00	\$33,000.00	\$6,500.00 \$6,350.00	\$97,500.00 \$311.150.00	\$6,800.00	\$105,000.00	\$4,000.00	\$60,000.00	\$1,150.00 \$4,850.00	\$17,250.00 \$237.650.00	\$3,500.00 \$4,200.00	\$52,500.00 \$205.800.00	\$7,567.13 \$6,214.70	\$113,506.95 \$304.520.30	\$3,200.00 \$4,700.00	\$48,000.00 \$230,300.00
69	TYPE C-2 INLET	EA	7	\$4,820.00	\$33,740.00	\$3,897.70	\$27,283.90	\$5,400.00	\$37,800.00	\$5,500.00	\$38,500.00	\$5,000.00	\$35,000.00	\$8,000.00	\$56,000.00	\$8,200.00	\$57,400.00	\$4,800.00	\$33,600.00	\$5,700.00	\$39,900.00	\$5,000.00	\$35,000.00	\$7,308.55	\$51,159.85	\$6,100.00	\$42,700.00
70	PRECAST MANHOLES (TYPE C)(STD) (5 <depth<10)< td=""><td>FΔ</td><td>24</td><td>\$2,700,00</td><td>\$64 800 00</td><td>\$4 287 45</td><td>\$102.898.80</td><td>\$3,400,00</td><td>\$81,600,00</td><td>\$3,000,00</td><td>\$72 000 00</td><td>\$3,300,00</td><td>\$79 200 00</td><td>\$5 100 00</td><td>\$122,400,00</td><td>\$5,600,00</td><td>\$134 400 00</td><td>\$4 200 00</td><td>\$100 800 00</td><td>\$3,600,00</td><td>\$86 400 00</td><td>\$3.500.00</td><td>\$84 000 00</td><td>\$5 902 66</td><td>\$141 663 84</td><td>\$3,000,00</td><td>\$72,000,00</td></depth<10)<>	FΔ	24	\$2,700,00	\$64 800 00	\$4 287 45	\$102.898.80	\$3,400,00	\$81,600,00	\$3,000,00	\$72 000 00	\$3,300,00	\$79 200 00	\$5 100 00	\$122,400,00	\$5,600,00	\$134 400 00	\$4 200 00	\$100 800 00	\$3,600,00	\$86 400 00	\$3.500.00	\$84 000 00	\$5 902 66	\$141 663 84	\$3,000,00	\$72,000,00
	PRECAST MANHOLES (TYPE C)(SHALLOW) (DEPTH<5) PRECAST MANHOLES (TYPE C)(DEEP)(DEPTH>10)	EA EA	4 2	\$3,900.00 \$11,000.00	\$15,600.00 \$22,000.00	\$3,500.00 \$4,500.00	\$14,000.00 \$9,000.00	\$3,200.00 \$4,650.00	\$12,800.00 \$9,300.00	\$2,500.00 \$5,000.00	\$10,000.00 \$10,000.00	\$4,200.00 \$13.000.00	\$16,800.00 \$26,000.00	\$5,200.00 \$14,000.00	\$20,800.00 \$28,000.00	\$5,700.00 \$7,500.00	\$22,800.00 \$15,000.00	\$4,200.00 \$4,200.00	\$16,800.00 \$8,400.00	\$4,550.00 \$14.300.00	\$18,200.00 \$28,600.00	\$3,000.00 \$3,000.00	\$12,000.00 \$6,000.00	\$6,832.05 \$14.670.87	\$27,328.20 \$29.341.74	\$2,900.00 \$3,300.00	\$11,600.00 \$6,600.00
71	MANHOLE FOR CONCRETE BOX	EA	25	\$2,100.00	\$52,500.00	\$7,357.00	\$183,925.00	\$1,700.00	\$42,500.00	\$1,200.00	\$30,000.00	\$1,800.00	\$45,000.00	\$3,000.00	\$75,000.00	\$2,300.00	\$57,500.00	\$2,700.00	\$67,500.00	\$2,500.00	\$62,500.00	\$1,500.00	\$37,500.00	\$4,628.19	\$115,704.75	\$1,500.00	\$37,500.00
72	48" BEND @ 10 DEG	EA	8	\$2,500.00	\$20,000.00	\$400.00	\$3,200.00	\$3,200.00	\$25,600.00	\$1,000.00	\$8,000.00	\$934.00	\$7,472.00	\$2,000.00	\$16,000.00	\$2,000.00	\$16,000.00	\$2,000.00	\$16,000.00	\$1,100.00	\$8,800.00	\$3,000.00	\$24,000.00	\$2,500.00	\$20,000.00	\$4,400.00	\$35,200.00
73	7' X 5' BEND @ 10 DEG	EA	4	\$4,300.00	\$17,200.00	\$800.00	\$3,200.00	\$2,100.00	\$8,400.00	\$1,000.00	\$4,000.00	\$3,550.00	\$14,200.00	\$6,500.00	\$26,000.00	\$1,500.00	\$6,000.00	\$3,400.00	\$13,600.00	\$2,900.00	\$11,600.00	\$2,000.00	\$8,000.00	\$6,100.00	\$24,400.00	\$6,300.00	\$25,200.00
74	INTERCEPTOR SWALE ROADSIDE DITCH REGRADING	LF LF	2,549 11.132	\$4.80 \$8.40	\$12,235.20 \$93.508.80	\$6.50 \$6.37	\$16,568.50 \$70,910.84	\$6.00 \$6.00	\$15,294.00 \$66.792.00	\$10.00 \$5.00	\$25,490.00 \$55,660.00	\$6.00 \$5.00	\$15,294.00 \$55,660.00	\$7.00 \$5.00	\$17,843.00 \$55,660.00	\$3.00 \$3.00	\$7,647.00 \$33.396.00	\$2.00 \$7.00	\$5,098.00 \$77.924.00	\$2.65 \$3.00	\$6,754.85 \$33,396.00	\$5.00 \$5.00	\$12,745.00 \$55.660.00	\$3.95 \$2.08	\$10,068.55 \$23,154.56	\$4.50 \$7.00	\$11,470.50 \$77.924.00
76	PRECAST TYPE "E" INLET	EA	21	\$2,800.00	\$58,800.00	\$2,944.91	\$61.843.11	\$3,000.00	\$63,000.00	\$3,000.00	\$63,000.00	\$3,000,00	\$63,000.00	\$4,800.00	\$100,800.00	\$4,000.00	\$84,000.00	\$5,000.00	\$105,000.00	\$3,000.00	\$63,000.00	\$2,900.00	\$60,900.00	\$8,500.00	\$178,500.00	\$3,000.00	\$63,000.00
77	PRECAST AREA ZONE DRAIN INLET	EA	3	\$3,050.00	\$9,150.00	\$850.00	\$2,550.00	\$1,900.00	\$5,700.00	\$3,000.00	\$9,000.00	\$3,100.00	\$9,300.00	\$5,000.00	\$15,000.00	\$3,800.00	\$11,400.00	\$4,000.00	\$12,000.00	\$2,700.00	\$8,100.00	\$1,700.00	\$5,100.00	\$4,983.32	\$14,949.96	\$2,900.00	\$8,700.00
78	RIPRAP - GRADATION NO. 1 (18" THICK)	SY	39	\$127.00	\$4,953.00	\$83.00	\$3,237.00	\$108.00	\$4,212.00	\$100.00	\$3,900.00	\$74.00	\$2,886.00	\$100.00	\$3,900.00	\$120.00	\$4,680.00	\$84.00	\$3,276.00	\$107.00	\$4,173.00	\$100.00	\$3,900.00	\$124.42	\$4,852.38	\$80.00	\$3,120.00
	Sub Total				\$5,474,079.92	- 1	\$5,205,512.94		\$5,609,072.15		\$5,735,862.00		\$5,517,193.00		\$6,705,135.50	ł	\$6,699,900.00	1	\$6,224,222.00		\$6,774,359.85		\$5,835,415.20		\$7,185,849.34		\$6,650,924.50
79	DETENTION POND  DETENTION BASIN AND CHANNEL EXCAVATION, INCLUDING CLAY LINER IN BASINS PER GEOTECH REPORT, COMPLETE IN	CY	182,457	\$6.00	\$1,094,742.00	\$13.25	\$2,417,555.25	\$5.50	\$1,003,513.50	\$10.00	\$1,824,570.00	\$14.00	\$2,554,398.00	\$6.50	\$1,185,970.50	\$8.00	\$1,459,656.00	\$8.50	\$1,550,884.50	\$9.80	\$1,788,078.60	\$15.00	\$2,736,855.00	\$8.00	\$1,459,656.00	\$13.50	\$2,463,169.50
80	PLACE (PER HCFCD SPEC 02315) CONCRETE INTERCEPTOR STRUCTURES TYPICAL BACKSLOPE INTERCEPTOR	EA	7	\$1,880.00	\$13,160.00	\$250.00	\$1,750.00	\$1,300.00	\$9,100.00	\$1,000.00	\$7,000.00	\$3,500.00	\$24,500.00	\$3,000.00	\$21,000.00	\$2,800.00	\$19,600.00	\$4,600.00	\$32,200.00	\$900.00	\$6,300.00	\$8,000.00	\$56,000.00	\$6,000.00	\$42,000.00	\$3,000.00	\$21,000.00
81	RIP-RAP GRADATION NO.1, 18-INCH THICK MAT	SY	531	\$93.00	\$49,383.00	\$50.00	\$26,550.00	\$108.00	\$57,348.00	\$80.00	\$42,480.00	\$80.00	\$42,480.00	\$75.00	\$39,825.00	\$120.00	\$63,720.00	\$83.00	\$44,073.00	\$105.00	\$55,755.00	\$85.00	\$45,135.00	\$82.33	\$43,717.23	\$80.00	\$42,480.00
82	TIMBER BENT	EA	1	\$1,620.00	\$1,620.00	\$750.00	\$750.00	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$2,980.00	\$2,980.00	\$1,800.00	\$1,800.00	\$2,100.00	\$2,100.00	\$1,000.00	\$1,000.00	\$4,287.23	\$4,287.23	\$1,500.00	\$1,500.00
	FLOATABLES COLLECTION SCREEN 5" REINFORCED CONCRETE SLOPE PAVING	EA SY	3,388	\$10,000.00 \$64.00	\$20,000.00 \$216,832.00	\$4,270.96 \$45.00	\$8,541.92 \$152,460.00	\$15,000.00 \$77.50	\$30,000.00 \$262,570.00	\$10,000.00 \$65.00	\$20,000.00 \$220,220.00	\$6,000.00 \$75.00	\$12,000.00 \$254,100.00	\$10,000.00 \$90.00	\$20,000.00 \$304,920.00	\$27,000.00 \$67.00	\$54,000.00 \$226,996.00	\$21,000.00 \$77.00	\$42,000.00 \$260,876.00	\$22,000.00 \$44.00	\$44,000.00 \$149,072.00	\$20,000.00 \$80.00	\$40,000.00 \$271.040.00	\$4,910.06 \$77.59	\$9,820.12 \$262,874.92	\$7,200.00 \$75.00	\$14,400.00 \$254,100.00
0.5	3 REINFORCED CONCRETE SEGFETAVING	51	3,366	304.00	3210,032.00	345.00	3152,400.00	\$77.50	3202,370.00	305.00	3220,220.00	\$15.00	3234,100.00	\$70.00	3304,720.00	307.00	3220,770.00	377.00	3200,870.00	344.00	3147,072.00	300.00	3271,040.00	311.57	3202,074.72	\$75.00	\$254,100.00
	Sub Total				\$1,395,737.00	1	\$2,607,607.17		\$1,365,031.50		\$2,115,770.00		\$2,888,978.00		\$1,574,215.50		\$1,826,952.00		\$1,931,833.50		\$2,045,305.60		\$3,150,030.00		\$1,822,355.50		\$2,796,649.50
84	TRAFFIC CONTROL PLAN Reflectorized Pavement Markers Type II-A-A - Furnish & Install	EA	2,851	\$3.10	\$8,838.10	\$3.20	\$9,123.20	\$2.25	\$6,414.75	\$5.00	\$14,255.00	\$4.00	\$11,404.00	\$4.00	\$11,404.00	\$2.00	\$5,702.00	\$3.00	\$8,553.00	\$3.60	\$10,263.60	\$2.00	\$5,702.00	\$2.14	\$6,101.14	\$3.50	\$9,978.50
	(Removed) NON-REFLECTORIZED PAVEMENT MARKERS 4" YELLOW BUTTONS - FURNISHED, INSTALLED & REMOVED	EA	2,851	\$2.60	\$7,412.60	\$3.20	\$9,123.20	\$1.65	\$4,704.15	\$5.00	\$14,255.00	\$4.00	\$11,404.00	\$4.00	\$11,404.00	\$1.50	\$4,276.50	\$3.00	\$8,553.00	\$3.60	\$10,263.60	\$1.50	\$4,276.50	\$1.61	\$4,590.11	\$3.00	\$8,553.00
85	Work Zone Pavement Markings 4" Yellow/Solid (Removable) Furnished -Applied & Removed	LF	5,496	\$0.55	\$3,022.80	\$0.55	\$3,022.80	\$0.45	\$2,473.20	\$1.00	\$5,496.00	\$1.00	\$5,496.00	\$0.70	\$3,847.20	\$0.40	\$2,198.40	\$0.55	\$3,022.80	\$0.55	\$3,022.80	\$0.40	\$2,198.40	\$0.43	\$2,363.28	\$0.65	\$3,572.40
85A	WORK ZONE PAVEMENT MARKINGS 4" WHITE/SOLID (REMOVABLE) - FURNISHED, APPLIED & REMOVED	LF	14,700	\$0.55	\$8,085.00	\$0.50	\$7,350.00	\$0.45	\$6,615.00	\$1.00	\$14,700.00	\$1.00	\$14,700.00	\$0.70	\$10,290.00	\$0.40	\$5,880.00	\$0.55	\$8,085.00	\$0.55	\$8,085.00	\$0.40	\$5,880.00	\$0.43	\$6,321.00	\$0.60	\$8,820.00
86	TRAFFIC CONTROL FOR PAVEMENT MARKINGS, AND SIGNAGE INSTALLATION, INCLUDING SIGNS, DRUMS, TUBULAR MARKERS, CONES, BARRICADES AND FLAGGERS	МО	18	\$1,930.00	\$34,740.00	\$1,900.00	\$34,200.00	\$4,000.00	\$72,000.00	\$2,000.00	\$36,000.00	\$5,200.00	\$93,600.00	\$15,500.00	\$279,000.00	\$2,500.00	\$45,000.00	\$4,500.00	\$81,000.00	\$2,500.00	\$45,000.00	\$4,500.00	\$81,000.00	\$10,275.26	\$184,954.68	\$10,900.00	\$196,200.00
86A	LOW PROFILE CONCRETE TRAFFIC BARRIER TYPE I (FURNISH AND INSTALL)	LF	7,720	\$33.50	\$258,620.00	\$40.00	\$308,800.00	\$18.00	\$138,960.00	\$10.00	\$77,200.00	\$60.60	\$467,832.00	\$25.00	\$193,000.00	\$45.00	\$347,400.00	\$63.00	\$486,360.00	\$64.00	\$494,080.00	\$20.00	\$154,400.00	\$26.70	\$206,124.00	\$46.00	\$355,120.00
86B	LOW PROFILE CONCRETE TRAFFIC BARRIER TYPE 2 (FURNISH AND INSTALL)	LF	640	\$49.00	\$31,360.00	\$40.00	\$25,600.00	\$18.00	\$11,520.00	\$10.00	\$6,400.00	\$60.60	\$38,784.00	\$40.00	\$25,600.00	\$45.00	\$28,800.00	\$63.00	\$40,320.00	\$64.00	\$40,960.00	\$25.00	\$16,000.00	\$68.12	\$43,596.80	\$49.00	\$31,360.00
86C	(RUGNISH AND INSTALL) LOW PROFILE CONCRETE TRAFFIC BARRIER TYPE 1 (RELOCATE)	LF	780	\$12.00	\$9,360.00	\$1.96	\$1,528.80	\$8.00	\$6,240.00	\$10.00	\$7,800.00	\$10.00	\$7,800.00	\$5.00	\$3,900.00	\$10.00	\$7,800.00	\$10.00	\$7,800.00	\$11.00	\$8,580.00	\$10.00	\$7,800.00	\$3.12	\$2,433.60	\$8.50	\$6,630.00
86D	(RELOCATE) (RELOCATE)	LF	320	\$14.50	\$4,640.00	\$1.96	\$627.20	\$8.00	\$2,560.00	\$10.00	\$3,200.00	\$10.00	\$3,200.00	\$3.00	\$960.00	\$10.00	\$3,200.00	\$10.00	\$3,200.00	\$7.00	\$2,240.00	\$10.00	\$3,200.00	\$9.00	\$2,880.00	\$8.50	\$2,720.00
	LOW PROFILE CONCRETE TRAFFIC BARRIER TYPE I	LF	7,720	\$7.00	\$54,040.00	\$1.50	\$11,580.00	\$18.00	\$138,960.00	\$5.00	\$38,600.00	\$17.00	\$131,240.00	\$4.25	\$32,810.00	\$10.00	\$77,200.00	\$9.00	\$69,480.00	\$8.00	\$61,760.00	\$10.00	\$77,200.00	\$5.05	\$38,986.00	\$12.00	\$92,640.00
86F	LOW PROFILE CONCRETE TRAFFIC BARRIER TYPE 2 (REMOVE)	LF	640	\$9.50	\$6,080.00	\$1.50	\$960.00	\$18.00	\$11,520.00	\$10.00	\$6,400.00	\$17.00	\$10,880.00	\$5.00	\$3,200.00	\$10.00	\$6,400.00	\$9.00	\$5,760.00	\$8.00	\$5,120.00	\$10.00	\$6,400.00	\$9.14	\$5,849.60	\$12.00	\$7,680.00
	CONCRETE SAFETY BARRIER F-SHAPE (FURNISH AND INSTALL)	LF	430	\$18.20	\$7,826.00	\$3.00	\$1,290.00	\$23.00	\$9,890.00	\$30.00	\$12,900.00	\$67.00	\$28,810.00	\$10.00	\$4,300.00	\$45.00	\$19,350.00	\$62.00	\$26,660.00	\$87.00	\$37,410.00	\$60.00	\$25,800.00	\$7.32	\$3,147.60	\$100.00	\$43,000.00
	CONCRETE SAFETY BARRIER F-SHAPE (RELOCATE) CONCRETE SAFETY BARRIER F-SHAPE (REMOVE)	LF LF	645 430	\$8.20 \$7.40	\$5,289.00 \$3,182.00	\$2.45 \$1.85	\$1,580.25 \$795.50	\$7.00 \$23.00	\$4,515.00 \$9,890.00	\$10.00 \$10.00	\$6,450.00 \$4,300.00	\$11.00 \$18.00	\$7,095.00 \$7.740.00	\$1.00 \$3.00	\$645.00 \$1,290.00	\$10.00 \$10.00	\$6,450.00 \$4,300.00	\$12.00 \$17.00	\$7,740.00 \$7,310.00	\$11.50 \$10.00	\$7,417.50 \$4,300.00	\$10.00 \$10.00	\$6,450.00 \$4,300.00	\$5.32 \$7.55	\$3,431.40 \$3,246.50	\$8.50 \$13.00	\$5,482.50 \$5,590.00
87	CONCRETE SAFETY BARRIER F-SHAPE (REMOVE) CONSTRUCTION DETOUR (8" BLACK BASE)	SY	10,736	\$7.40 \$54.50	\$5,182.00	\$1.85	\$139,568.00	\$23.00 \$60.50	\$9,890.00 \$649,528.00	\$10.00 \$40.00	\$4,300.00 \$429,440.00	\$18.00	\$7,740.00 \$516,508.96	\$50.00	\$1,290.00 \$536,800.00	\$10.00	\$4,300.00 \$472,384.00	\$17.00	\$536,800.00	\$10.00 \$52.00	\$4,300.00 \$558,272.00	\$10.00	\$4,300.00 \$536,800.00	\$7.55	\$3,246.50 \$751,520.00	\$13.00 \$46.00	\$5,590.00 \$493,856.00
87A	REMOVE EXISTING PAVEMENT MARKINGS (4")	LF	35,916	\$0.33	\$11,852.28	\$0.45	\$16,162.20	\$0.18	\$6,464.88	\$0.10	\$3,591.60	\$0.55	\$19,753.80	\$0.40	\$14,366.40	\$0.15	\$5,387.40	\$0.35	\$12,570.60	\$0.33	\$11,852.28	\$0.20	\$7,183.20	\$0.27	\$9,697.32	\$0.40	\$14,366.40

			SER Construction	Partners LLC <sup>1</sup>	M2	U, LLC	Angel Broth	ners Enterprises	Wadef	Con, LLC	Lindsov	Construction	Main I and	ndustries, Ltd.	Tayas Starlin	ng Construction	ISI Contr	pacting Inc	Triple R S	ervices, L.L.P.	P. Cor	struction	Zachry C	onstruction oration	Fused Inc	dustries LLC
Item				T airtiici's E.E.C	1412	C, EEC	Aliger Broti	ici's Emicipriscs	Wadee	ou, LLC	Linuscy	construction	.viani Lanc	ndustries, Lita.	Texas Sterm	ig Construction	131 Contr	acting, riic.	Triple B S		K Coi	isti uction	Согр		ruscu riic	dustries EEC
No. Description  87B REMOVE EXISTING GORE STRIPING	UOM SF	Quantity 11,980	Unit Price \$0.97	Total Price \$11,620.60	Unit Price \$0.85	Total Price \$10.183.00	Unit Price \$0.55	Total Price \$6,589.00	Unit Price \$0.50	Total Price \$5,990.00	Unit Price \$0.55	Total Price \$6,589.00	Unit Price \$1.00	Total Price \$11,980.00	Unit Price \$0.50	Total Price \$5,990.00	Unit Price \$1.00	Total Price \$11,980.00	Unit Price \$1.00	Total Price \$11,980.00	Unit Price \$0.50	Total Price \$5,990.00	Unit Price \$0.27	Total Price \$3,234.60	Unit Price \$1.10	Total Price \$13,178.00
88 CONSTRUCTION DETOUR TEMPORARY DRAINAGE 24" STORM SEWER	LF	1,550	\$82.00	\$127,100.00	\$25.64	\$39,742.00	\$61.00	\$94,550.00	\$40.00	\$62,000.00	\$140.00	\$217,000.00	\$65.00	\$100,750.00	\$50.00	\$77,500.00	\$58.00	\$89,900.00	\$85.00	\$131,750.00	\$80.00	\$124,000.00	\$112.56	\$174,468.00	\$88.00	\$136,400.00
89 CONSTRUCTION DETOUR TEMPORARY ROADSIDE DITCH	LF	8,350	\$5.00	\$41,750.00	\$5.03	\$42,000.50	\$5.00	\$41,750.00	\$3.00	\$25,050.00	\$8.00	\$66,800.00	\$10.00	\$83,500.00	\$3.00	\$25,050.00	\$6.35	\$53,022.50	\$4.00	\$33,400.00	\$7.00	\$58,450.00	\$1.84	\$15,364.00	\$1.60	\$13,360.00
90 TEMPORARY RESIDENTIAL DRIVEWAYS - FURNISH, INSTALL AND REMOVE	EA	64	\$940.00	\$60,160.00	\$1,500.00	\$96,000.00	\$575.00	\$36,800.00	\$100.00	\$6,400.00	\$3,000.00	\$192,000.00	\$800.00	\$51,200.00	\$500.00	\$32,000.00	\$2,050.00	\$131,200.00	\$1,500.00	\$96,000.00	\$900.00	\$57,600.00	\$3,114.02	\$199,297.28	\$450.00	\$28,800.00
Sub Total	1			\$1,280,090.38	-	\$759,236.65		\$1,261,943.98		\$780,427.60		\$1,858,636.76		\$1,380,246.60		\$1,182,268.30	1	\$1,599,316.90		\$1,581,756.78	ł	\$1,190,630.10	ł	\$1,667,606.91		\$1,477,306.80
SIGNING AND PAVEMENT MARKINGS  1 ALUMINUM SIGNS (GROUND MOUNTED)-FURNISH AND INSTALL	EA	59	\$222.00	\$13,098.00	\$205.00	\$12,095.00	\$300.00	\$17,700.00	\$350.00	\$20,650.00	\$230.00	\$13,570.00	\$300.00	\$17,700.00	\$205.00	\$12,095.00	\$220.00	\$12,980.00	\$230.00	\$13,570.00	\$300.00	\$17,700.00	\$294.56	\$17,379.04	\$260.00	\$15,340.00
93 REFLECTORIZED PAVEMENT MARKING TYPE I (THERMOPLASTIC) 4" WHITE/BROKEN - FURNISH AND	LF	6,915	\$0.54	\$3,734.10	\$0.45	\$3,111.75	\$0.40	\$2,766.00	\$1.00	\$6,915.00	\$0.60	\$4,149.00	\$0.45	\$3,111.75	\$0.38	\$2,627.70	\$0.55	\$3,803.25	\$0.55	\$3,803.25	\$0.40	\$2,766.00	\$0.41	\$2,835.15	\$0.60	\$4,149.00
94 REFLECTORIZED PAVEMENT MARKING TYPE I (THERMOPLASTIC) 4" WHITE/SOLID - FURNISH AND APPLIED	LF	740	\$0.49	\$362.60	\$0.45	\$333.00	\$0.45	\$333.00	\$1.00	\$740.00	\$0.50	\$370.00	\$0.45	\$333.00	\$0.40	\$296.00	\$0.50	\$370.00	\$0.50	\$370.00	\$0.40	\$296.00	\$0.43	\$318.20	\$0.55	\$407.00
95 REFLECTORIZED PAVEMENT MARKING TYPE I (THERMOPLASTIC) 4" YELLOW/SOLID - FURNISH AND APPLIED	LF	17,458	\$0.43	\$7,506.94	\$0.45	\$7,856.10	\$0.40	\$6,983.20	\$1.00	\$17,458.00	\$0.50	\$8,729.00	\$0.45	\$7,856.10	\$0.40	\$6,983.20	\$0.45	\$7,856.10	\$0.45	\$7,856.10	\$0.40	\$6,983.20	\$0.41	\$7,157.78	\$0.50	\$8,729.00
96 REFLECTORIZED PAVEMENT MARKING TYPE I (THERMOPLASTIC) 4" YELLOW/BROKEN - FURNISH AND APPLIED	LF	6,300	\$0.54	\$3,402.00	\$0.45	\$2,835.00	\$0.45	\$2,835.00	\$1.00	\$6,300.00	\$0.60	\$3,780.00	\$0.45	\$2,835.00	\$0.40	\$2,520.00	\$0.55	\$3,465.00	\$0.55	\$3,465.00	\$0.40	\$2,520.00	\$0.43	\$2,709.00	\$0.60	\$3,780.00
97 REFLECTORIZED PAVEMENT MARKING TYPE I (THERMOPLASTIC) 8" WHITE/SOLID - FURNISH AND APPLIED	LF	251	\$1.35	\$338.85	\$0.95	\$238.45	\$1.50	\$376.50	\$3.00	\$753.00	\$1.40	\$351.40	\$1.50	\$376.50	\$1.30	\$326.30	\$1.30	\$326.30	\$1.40	\$351.40	\$1.30	\$326.30	\$1.39	\$348.89	\$1.60	\$401.60
98 REFLECTORIZED PAVEMENT MARKING TYPE I (THERMOPLASTIC) 12" WHITE/SOLID - FURNISHED AND APPLIED	LF	564	\$2.43	\$1,370.52	\$1.50	\$846.00	\$2.75	\$1,551.00	\$4.00	\$2,256.00	\$2.50	\$1,410.00	\$2.80	\$1,579.20	\$2.45	\$1,381.80	\$2.40	\$1,353.60	\$2.50	\$1,410.00	\$2.50	\$1,410.00	\$2.62	\$1,477.68	\$2.80	\$1,579.20
99 REFLECTORIZED PAVEMENT MARKING TYPE I (THERMOPLASTIC) 24" WHITE/SOLID - FURNISH AND APPLIED	LF	216	\$4.81	\$1,038.96	\$3.00	\$648.00	\$5.50	\$1,188.00	\$10.00	\$2,160.00	\$5.00	\$1,080.00	\$5.60	\$1,209.60	\$5.00	\$1,080.00	\$4.70	\$1,015.20	\$5.00	\$1,080.00	\$5.00	\$1,080.00	\$5.36	\$1,157.76	\$5.50	\$1,188.00
100 REFLECTORIZED PAVEMENT MARKING TYPE I (THERMOPLASTIC) 24" YELLOW/SOLID - FURNISH AND APPLIED	LF	93	\$4.86	\$451.98	\$3.00	\$279.00	\$5.50	\$511.50	\$10.00	\$930.00	\$5.00	\$465.00	\$5.60	\$520.80	\$5.00	\$465.00	\$4.70	\$437.10	\$5.00	\$465.00	\$5.00	\$465.00	\$5.36	\$498.48	\$5.50	\$511.50
101 REFLECTORIZED PAVEMENT MARKING TYPE I (THERMOPLASTIC) SINGLE ARROW - LEFT - FURNISH AND APPLIED	EA	18	\$113.40	\$2,041.20	\$105.00	\$1,890.00	\$132.00	\$2,376.00	\$200.00	\$3,600.00	\$117.00	\$2,106.00	\$150.00	\$2,700.00	\$120.00	\$2,160.00	\$110.00	\$1,980.00	\$117.00	\$2,106.00	\$120.00	\$2,160.00	\$128.53	\$2,313.54	\$130.00	\$2,340.00
102 REFLECTORIZED PAVEMENT MARKING TYPE I (THERMOPLASTIC) SINGLE ARROW - RIGHT - FURNISH AND APPLIED	EA	1	\$113.40	\$113.40	\$105.00	\$105.00	\$132.00	\$132.00	\$200.00	\$200.00	\$117.00	\$117.00	\$150.00	\$150.00	\$120.00	\$120.00	\$110.00	\$110.00	\$117.00	\$117.00	\$120.00	\$120.00	\$128.53	\$128.53	\$130.00	\$130.00
103 REFLECTORIZED PAVEMENT MARKING TYPE I (THERMOPLASTIC) WORD "ONLY" - FURNISH AND APPLIED	EA	3	\$129.60	\$388.80	\$120.00	\$360.00	\$182.00	\$546.00	\$200.00	\$600.00	\$130.00	\$390.00	\$185.00	\$555.00	\$165.00	\$495.00	\$128.00	\$384.00	\$133.00	\$399.00	\$175.00	\$525.00	\$176.73	\$530.19	\$150.00	\$450.00
103A NON-REFLECTORIZED CERAMIC TRAFFIC BUTTONS (WHITE) - FURNISH & INSTALL	EA	72	\$3.46	\$249.12	\$3.15	\$226.80	\$2.75	\$198.00	\$5.00	\$360.00	\$4.00	\$288.00	\$4.00	\$288.00	\$2.50	\$180.00	\$3.40	\$244.80	\$4.00	\$288.00	\$3.00	\$216.00	\$2.68	\$192.96	\$4.00	\$288.00
103B NON-REFLECTORIZED CERAMIC TRAFFIC BUTTONS (YELLOW) - FURNISH & INSTALL	EA	270	\$3.46	\$934.20	\$3.15	\$850.50	\$2.75	\$742.50	\$5.00	\$1,350.00	\$4.00	\$1,080.00	\$4.00	\$1,080.00	\$2.50	\$675.00	\$3.40	\$918.00	\$4.00	\$1,080.00	\$3.00	\$810.00	\$2.68	\$723.60	\$4.00	\$1,080.00
104 REFLECTORIZED PAVEMENT MARKERS, 4-INCH (TYPE II, A-A) - FURNISH AND INSTALL	EA	1,098	\$4.05	\$4,446.90	\$3.45	\$3,788.10	\$3.70	\$4,062.60	\$5.00	\$5,490.00	\$4.20	\$4,611.60	\$4.00	\$4,392.00	\$3.35	\$3,678.30	\$4.00	\$4,392.00	\$4.00	\$4,392.00	\$3.50	\$3,843.00	\$3.59	\$3,941.82	\$4.50	\$4,941.00
104A REFLECTORIZED PAVEMENT MARKERS, 4-INCH (TYPE I, C) - FURNISH AND INSTALL	EA	452	\$4.05	\$1,830.60	\$3.45	\$1,559.40	\$3.30	\$1,491.60	\$5.00	\$2,260.00	\$4.20	\$1,898.40	\$4.00	\$1,808.00	\$3.00	\$1,356.00	\$4.00	\$1,808.00	\$4.00	\$1,808.00	\$3.00	\$1,356.00	\$3.21	\$1,450.92	\$4.50	\$2,034.00
105 REFLECTORIZED PAVEMENT MARKERS, 4-INCH (TYPE II, C-R) - FURNISH AND INSTALL  Sub Total	EA	72	\$4.05	\$291.60 \$41.599.77	\$3.45	\$248.40 \$37.270.50	\$3.70	\$266.40 \$44,059.30	\$5.00	\$360.00 \$72,382.00	\$4.20	\$302.40 \$44,697.80	\$4.00	\$288.00 \$46,782.95	\$3.35	\$241.20 \$36,680.50	\$4.00	\$288.00 \$41,731.35	\$4.00	\$288.00 \$42,848.75	\$3.50	\$252.00 \$42,828.50	\$3.59	\$258.48 \$43,422.02	\$4.50	\$324.00 \$47,672.30
		1		9.1.277.11	1	957,270.50		\$11,007.00		9,2,362.00		5.1.071.00	1	9.00,02.73		950,000.50	1	y,/J1.JJ	1	9.2,570.73	1	\$ 12,020.30	1	9.5,722.02		Ψ.,,,0,20
TRAFFIC SIGNAL  106 POLE FOUNDATION (TYPE 10036) (CLASS B2), INCLUDING ANCHOR BOLTS, COMPLETE IN PLACE AND IN ACCORDANCE WITH DRAWINGS AND SPECIFICATIONS	VF	60	\$166.71	\$10,002.60	\$120.00	\$7,200.00	\$300.00	\$18,000.00	\$300.00	\$18,000.00	\$160.00	\$9,600.00	\$300.00	\$18,000.00	\$241.00	\$14,460.00	\$170.00	\$10,200.00	\$172.00	\$10,320.00	\$250.00	\$15,000.00	\$290.52	\$17,431.20	\$410.00	\$24,600.00
107 INSTALL CONTROLLER CABINET FOUNDATION, COMPLETE IN PLACE, IN ACCORDANCE WITH DRAWINGS AND SPECIFICATIONS	EA	1	\$2,107.34	\$2,107.34	\$1,545.97	\$1,545.97	\$1,650.00	\$1,650.00	\$1,600.00	\$1,600.00	\$1,900.00	\$1,900.00	\$1,700.00	\$1,700.00	\$1,697.00	\$1,697.00	\$2,100.00	\$2,100.00	\$2,170.00	\$2,170.00	\$1,800.00	\$1,800.00	\$1,611.07	\$1,611.07	\$1,900.00	\$1,900.00
108 FURNISH AND INSTALL "Barbers Hill RD" OVERHEAD STREET NAME SIGN	EA	2	\$865.96	\$1,731.92	\$3,000.00	\$6,000.00	\$495.00	\$990.00	\$500.00	\$1,000.00	\$805.00	\$1,610.00	\$550.00	\$1,100.00	\$331.00	\$662.00	\$850.00	\$1,700.00	\$890.00	\$1,780.00	\$400.00	\$800.00	\$522.61	\$1,045.22	\$460.00	\$920.00
109 FURNISH AND INSTALL "Crosby Lynchburg RD" OVERHEAD STREET NAME SIGN	EA	1	\$854.13	\$854.13	\$3,000.00	\$3,000.00	\$600.00	\$600.00	\$600.00	\$600.00	\$800.00	\$800.00	\$700.00	\$700.00	\$470.00	\$470.00	\$850.00	\$850.00	\$88.00	\$88.00	\$500.00	\$500.00	\$666.04	\$666.04	\$710.00	\$710.00
110 FURNISH AND INSTALL "LEFT TURN YIELD ON FLASHING YELLOW ARROW" SIGN (36" X 42"), COMPLETE IN PLACE, IN ACCORDANCE WITH DRAWINGS AND SPECIFICATIONS	EA	1	\$235.79	\$235.79	\$350.00	\$350.00	\$320.00	\$320.00	\$300.00	\$300.00	\$220.00	\$220.00	\$330.00	\$330.00	\$262.00	\$262.00	\$240.00	\$240.00	\$242.00	\$242.00	\$275.00	\$275.00	\$317.54	\$317.54	\$350.00	\$350.00
111 CONDT (PVC) (SCHD 80) (1") 112 CONDT (PVC) (SCHD 80) (2")	LF LF	139	\$7.87 \$9.37	\$1,093.93 \$9,772.91	\$12.60 \$10.00	\$1,751.40 \$10,430.00	\$7.00 \$9.00	\$973.00 \$9.387.00	\$7.00 \$9.00	\$973.00 \$9.387.00	\$7.50 \$9.00	\$1,042.50 \$9,387.00	\$13.00 \$10.00	\$1,807.00 \$10,430.00	\$9.50 \$10.70	\$1,320.50 \$11,160.10	\$8.00 \$10.00	\$1,112.00 \$10.430.00	\$8.00 \$9.00	\$1,112.00 \$9.387.00	\$10.00 \$15.00	\$1,390.00 \$15,645.00	\$7.81 \$9.30	\$1,085.59 \$9,699.90	\$15.00 \$20.00	\$2,085.00 \$20,860.00
112 CONDT (PVC) (SCHD 80) (2") (BORED)	LF	43	\$13.00	\$559.00	\$14.26	\$613.18	\$13.00	\$559.00	\$13.00	\$559.00	\$12.00	\$516.00	\$14.00	\$602.00	\$14.00	\$602.00	\$13.00	\$559.00	\$13.00	\$559.00	\$15.00	\$645.00	\$12.90	\$554.70	\$35.00	\$1,505.00
114 CONDT (PVC) (SCHD 80) (3") 115 CONDT (PVC) (SCHD 80) (3") (BORED)	LF	184 197	\$12.27 \$19.44	\$2,257.68 \$3,829.68	\$12.15 \$20.75	\$2,235.60 \$4,087.75	\$15.50 \$20.00	\$2,852.00 \$3,940.00	\$15.00 \$19.00	\$2,760.00 \$3,743.00	\$11.40 \$18.00	\$2,097.60	\$13.00 \$20.00	\$2,392.00 \$3.940.00	\$15.00 \$18.00	\$2,760.00 \$3,546.00	\$12.00	\$2,208.00 \$3,743.00	\$12.00 \$20.00	\$2,208.00 \$3,940.00	\$15.00 \$20.00	\$2,760.00 \$3.940.00	\$12.17 \$19.28	\$2,239.28	\$21.00 \$37.00	\$3,864.00 \$7,289.00
116 CONDT (PVC) (SCHD 80) (4")	LF LF	197 99	\$14.62	\$1,447.38	\$15.61	\$1,545.39	\$21.00	\$2,079.00	\$20.00	\$1,980.00	\$14.00	\$3,546.00 \$1,386.00	\$15.00	\$1,485.00	\$20.00	\$1,980.00	\$19.00 \$14.50	\$1,435.50	\$15.00	\$1,485.00	\$20.00	\$1,980.00	\$14.50	\$3,798.16 \$1,435.50	\$22.00	\$2,178.00
117 CONDT (PVC) (SCHD 80) (4") (BORED)	LF	92	\$24.63	\$2,265.96	\$20.00	\$1,840.00	\$25.00	\$2,300.00	\$24.00	\$2,208.00	\$23.00	\$2,116.00	\$26.00	\$2,392.00	\$23.00	\$2,116.00	\$25.00	\$2,300.00	\$25.00	\$2,300.00	\$20.00	\$1,840.00	\$24.43	\$2,247.56	\$75.00	\$6,900.00

			SER Construction	Partners LLC 1	M21	U, LLC	Angel Broth	ers Enterprises	WadeC	Con, LLC	Lindsey (	Construction	Main Lane I	ndustries, Ltd.	Texas Sterlin	g Construction	ISI Contra	acting, Inc.	Triple B S	ervices, L.L.P.	R Cons	struction	Zachry Co Corpo		Fused Inc	lustries LLC
Item No. Description	HOM	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
118 3" RMC CONDUIT RISER	EA	1	\$1,708.40	\$1,708.40	\$1,250.00	\$1,250.00	\$1,000.00	\$1,000.00	\$900.00	\$900.00	\$1,600.00	\$1,600.00	\$1,800.00	\$1,800.00	\$961.00	\$961.00	\$1,675.00	\$1,675.00	\$1,800.00	\$1,800.00	\$1,000.00	\$1,000.00	\$1,694.37	\$1,694.37	\$1,000.00	\$1,000.00
119 ZINC - COAT STL WIRE STRAND (5/16 IN)	LF	703	\$1.74	\$1,223.22	\$1.95	\$1,370.85	\$2.25	\$1,581.75	\$3.00	\$2,109.00	\$1.70	\$1,195.10	\$2.00	\$1,406.00	\$1.40	\$984.20	\$1.70	\$1,195.10	\$1.80	\$1,265.40	\$1.50	\$1,054.50	\$1.72	\$1,209.16	\$1.60	\$1,124.80
120 ZINC - COAT STL WIRE STRAND (1/4 IN)	LF	763	\$1.62	\$1,236.06	\$3.00	\$2,289.00	\$2.25	\$1,716.75	\$3.00 \$2.00	\$2,289.00	\$1.55	\$1,182.65	\$1.75	\$1,335.25	\$1.40	\$1,068.20	\$1.60	\$1,220.80	\$1.70 \$2.00	\$1,297.10	\$1.50	\$1,144.50	\$1.61	\$1,228.43	\$1.50	\$1,144.50
121 TRF SIG CBL 7/C - #14 AWG (IMSA 20-1) 122 TRF SIG CBL 4/C - #14 AWG (IMSA 20-1)	LF LF	1,241 515	\$1.98 \$3.00	\$2,457.18 \$741.60	\$2.56 \$1.95	\$3,176.96 \$1,004.25	\$2.00 \$1.50	\$2,482.00 \$772.50	\$2.00 \$2.00	\$2,482.00 \$1,030.00	\$1.90 \$1.35	\$2,357.90 \$695.25	\$2.00 \$1.50	\$2,482.00 \$772.50	\$1.50 \$1.50	\$1,861.50 \$772.50	\$2.00 \$1.40	\$2,482.00 \$721.00	\$2.00 \$1.50	\$2,482.00 \$772.50	\$1.50 \$1.50	\$1,861.50 \$772.50	\$1.96 \$1.42	\$2,432.36 \$731.30	\$1.50 \$0.95	\$1,861.50 \$489.25
123 TRF SIG CBL 2/C - #14 AWG (IMSA 20-1)	LF	962	35.00	\$904.28	\$1.56	\$1,500.72	\$1.40	\$1.346.80	\$1.50	\$1,443.00	\$0.90	\$865.80	\$1.00	\$962.00	\$1.40	\$1,346.80	\$0.95	\$913.90	\$1.00	\$962.00	\$1.50	\$1.443.00	\$0.93	\$894.66	\$0.60	\$577.20
124 TRF SIG CBL 1/C #4 XHHW	LF	653	\$1.38	\$901.14	\$1.00	\$653.00	\$2.20	\$1,436.60	\$2.00	\$1,306.00	\$1.30	\$848.90	\$1.50	\$979.50	\$1.40	\$914.20	\$1.35	\$881.55	\$1.40	\$914.20	\$1.50	\$979.50	\$1.37	\$894.61	\$1.90	\$1,240.70
125 TRF SIG CBL 1/C #8 BARE	LF	785	\$0.79	\$620.15	\$1.00	\$785.00	\$1.50	\$1,177.50	\$2.00	\$1,570.00	\$0.75	\$588.75	\$0.90	\$706.50	\$1.40	\$1,099.00	\$0.80	\$628.00	\$0.80	\$628.00	\$1.50	\$1,177.50	\$0.78	\$612.30	\$0.70	\$549.50
126 TRF SIG CBL 1#4 XHHW STRANDED (LOOP DETECTOR)	LF	381	\$1.17	\$445.77	\$11.53	\$4,392.93	\$2.00	\$762.00	\$2.00	\$762.00	\$1.10	\$419.10	\$1.20	\$457.20	\$1.40	\$533.40	\$1.15	\$438.15	\$1.20	\$457.20	\$1.50	\$571.50	\$1.16	\$441.96	\$0.50	\$190.50
127 TRF SIG CBL 2/C #14 (IMSA 50-2) (LOOP DETECTOR BELDON)	LF	6,172	\$0.94	\$5,801.68	\$12.00	\$74,064.00	\$1.40	\$8,640.80	\$1.50	\$9,258.00	\$0.90	\$5,554.80	\$1.00	\$6,172.00	\$1.30	\$8,023.60	\$0.95	\$5,863.40	\$1.00	\$6,172.00	\$1.50	\$9,258.00	\$0.93	\$5,739.96	\$0.70	\$4,320.40
128 FURNISH AND INSTALL HC10034 (34') STEEL STRAIN POLE, COMPLETE IN PLACE, IN ACCORDANCE WITH DRAWINGS	EA	4	\$6,423.97	\$25,695.88	\$8,695.00	\$34,780.00	\$8,000.00	\$32,000.00	\$7,500.00	\$30,000.00	\$6,000.00	\$24,000.00	\$7,000.00	\$28,000.00	\$8,400.00	\$33,600.00	\$6,300.00	\$25,200.00	\$6,600.00	\$26,400.00	\$9,000.00	\$36,000.00	\$6,371.21	\$25,484.84	\$13,300.00	\$53,200.00
AND SPECIFICATIONS																			1							
129 PEDESTAL POLE (10') WITH CONCRETE FOUNDATION	EA	2	\$1,876.33	\$3,752.66	\$3,000.00	\$6,000.00	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	\$1,800.00	\$3,600.00	\$2,000.00	\$4,000.00	\$1,600.00	\$3,200.00	\$1,900.00	\$3,800.00	\$1,900.00	\$3,800.00	\$1,500.00	\$3,000.00	\$1,860.92	\$3,721.84	\$1,900.00	\$3,800.00
130 FURNISH AND INSTALL ROAD ILLUMINATION ASSEMBLIES	EA	2	\$1,417.42	\$2,834.84	\$9,450.00	\$18,900.00	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00	\$1,400.00	\$2,800.00	\$1,500.00	\$3,000.00	\$660.00	\$1,320.00	\$1,400.00	\$2,800.00	\$1,450.00	\$2,900.00	\$700.00	\$1,400.00	\$1,405.78	\$2,811.56	\$2,800.00	\$5,600.00
(400W) (15' ARM) WITH PHOTOELECTRIC CELL, WITH SHORTING CAP, COMPLETE IN PLACE, IN ACCORDANCE WITH	,																		1							
DRAWINGS AND SPECIFICATIONS	1									1																
131 FURNISH & INSTALL TRAFFIC SIGNAL HEAD (LED)-3-SECTION	- EA	6	\$589.89	\$3,539.34	\$3,000.00	\$18,000.00	\$750.00	\$4,500.00	\$700.00	\$4,200.00	\$550.00	\$3,300.00	\$620.00	\$3,720.00	\$500.00	\$3,000.00	\$580.00	\$3,480.00	\$62.00	\$372.00	\$500.00	\$3,000.00	\$585.04	\$3,510.24	\$770.00	\$4,620.00
12"-SPAN WIRE MOUNT (RYG)																										
132 FURNISH & INSTALL TRAFFIC SIGNAL HEAD (LED)-4-SECTION 12"-SPAN WIRE MOUNT (R, Y, FY, G)	- EA	4	\$717.33 \$453.53	\$717.33	\$3,000.00	\$3,000.00 \$3,400.00	\$800.00 \$550.00	\$800.00	\$800.00	\$800.00 \$2,400.00	\$675.00 \$435.00	\$675.00 \$1.740.00	\$750.00 \$480.00	\$750.00	\$600.00	\$600.00 \$1.300.00	\$705.00 \$450.00	\$705.00 \$1.800.00	\$735.00 \$460.00	\$735.00 \$1.840.00	\$600.00 \$350.00	\$600.00 \$1,400.00	\$711.42 \$449.80	\$711.42	\$940.00 \$500.00	\$940.00
133 SYMBOLIC PEDESTRIAN SIGNAL HEAD (1-WAY, 2 INDICATIONS)	EA	4	\$453.53	\$1,814.12	\$850.00	\$3,400.00	\$550.00	\$2,200.00	\$600.00	\$2,400.00	\$435.00	\$1,740.00	\$480.00	\$1,920.00	\$325.00	\$1,300.00	\$450.00	\$1,800.00	\$460.00	\$1,840.00	\$350.00	\$1,400.00	\$449.80	\$1,799.20	\$500.00	\$2,000.00
134 FURNISH AND INSTALL TRAFFIC SIGNAL SYSTEM, COMPLETE IN PLACE, EXCLUDING ITEMS LISTED	LS	1	\$5,704.78	\$5,704.78	\$55,870.00	\$55,870.00	\$2,750.00	\$2,750.00	\$2,600.00	\$2,600.00	\$5,300.00	\$5,300.00	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00	\$5,600.00	\$5,600.00	\$5,600.00	\$5,600.00	\$8,000.00	\$8,000.00	\$5,657.93	\$5,657.93	\$8,700.00	\$8,700.00
135 COPPER GROUND ROD 5/8" X 8"	EA	9	\$67.71	\$609.39	\$1,450.00	\$13,050.00	\$40.00	\$360.00	\$40.00	\$360.00	\$63.00	\$567.00	\$70.00	\$630.00	\$47.00	\$423.00	\$67.00	\$603.00	\$70.00	\$630.00	\$50.00	\$450.00	\$67.14	\$604.26	\$31.00	\$279.00
136 SAWCUT, FURNISH AND INSTALL LOOP DETECTORS INCLUDING LOOP WIRE, COMPLETE IN PLACE, IN	LF	1,272	\$10.44	\$13,279.68	\$18.75	\$23,850.00	\$9.00	\$11,448.00	\$9.00	\$11,448.00	\$10.00	\$12,720.00	\$11.00	\$13,992.00	\$10.00	\$12,720.00	\$10.25	\$13,038.00	\$10.75	\$13,674.00	\$10.00	\$12,720.00	\$10.36	\$13,177.92	\$16.00	\$20,352.00
ACCORDANCE WITH DRAWINGS AND SPECIFICATIONS 137 FURNISH & INSTALL PULL BOX W/ APRON COMPLETE IN	EA	18	\$643.29	\$11,579.22	\$389.64	\$7,013.52	\$960.00	\$17,280.00	\$900.00	\$16,200.00	\$600.00	\$10,800.00	\$700.00	\$12,600.00	\$665.00	\$11,970.00	\$630.00	\$11,340.00	\$660,00	\$11,880.00	\$700.00	\$12,600.00	\$638.00	\$11,484.00	\$1,500.00	\$27,000.00
PLACE, IN ACCORDANCE WITH DRAWINGS AND SPECIFICATIONS	LA	10	3043.27	311,377.22	3307.04	37,013.32	3700.00	\$17,280.00	3700.00	310,200.00	3000.00	\$10,800.00	3700.00	312,000.00	3003.00	311,770.00	3030.00	311,340.00	3000.00	311,000.00	3700.00	\$12,000.00	3036.00	311,404.00	\$1,500.00	327,000.00
138 FURNISH & INSTALL GROUND BOX W/ APRON COMPLETE IN	EA	1	\$2,501.45	\$2,501.45	\$280.00	\$280.00	\$1,800.00	\$1,800.00	\$1,600.00	\$1,600.00	\$2,350.00	\$2,350.00	\$2,600.00	\$2,600.00	\$783.00	\$783.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$800.00	\$800.00	\$2,480.92	\$2,480.92	\$2,000.00	\$2,000.00
PLACE, IN ACCORDANCE WITH DRAWINGS AND																			1							
SPECIFICATIONS		١.																								
139 FURNISH AND INSTALL BATTERY BACKUP UNIT ON CONTROLLER CABINET	EA	1	\$8,356.85	\$8,356.85	\$300.00	\$300.00	\$7,000.00	\$7,000.00	\$6,500.00	\$6,500.00	\$7,800.00	\$7,800.00	\$8,700.00	\$8,700.00	\$6,200.00	\$6,200.00	\$8,200.00	\$8,200.00	\$8,600.00	\$8,600.00	\$6,500.00	\$6,500.00	\$8,288.21	\$8,288.21	\$9,400.00	\$9,400.00
140 ELECTRICAL SERVICE ASSEMBLY WITH FOUNDATION (MOD	EA	1	\$3,550.57	\$3,550.57	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$3,300.00	\$3,300.00	\$3,700.00	\$3,700.00	\$4,400.00	\$4,400.00	\$3,500.00	\$3,500.00	\$3,650.00	\$3,650.00	\$4,500.00	\$4,500.00	\$3,521.41	\$3,521.41	\$5,400.00	\$5,400.00
1) (120/240) 000 (NS) SS (N) SP (O)			· ·					-	-										1				-			
141 FURNISH AND INSTALL PEDESTRIAN PUSH BUTTON STATION(APS) (RIGHT ARROW, LEFT ARROW, DOUBLE	EA	4	\$767.76	\$3,071.04	\$800.00	\$3,200.00	\$990.00	\$3,960.00	\$1,000.00	\$4,000.00	\$720.00	\$2,880.00	\$800.00	\$3,200.00	\$515.00	\$2,060.00	\$750.00	\$3,000.00	\$790.00	\$3,160.00	\$550.00	\$2,200.00	\$761.45	\$3,045.80	\$870.00	\$3,480.00
ARROW) 142 FURNISH AND INSTALL PEDESTRIAN PUSH BUTTON	EA	1	\$1,833.56	\$1,833.56	\$2,500.00	\$2,500.00	\$1,100.00	\$1,100.00	\$1,000.00	\$1,000.00	\$1,700.00	\$1,700.00	\$1,900.00	\$1,900.00	\$2,840.00	\$2,840.00	\$1,800.00	\$1,800.00	\$1,880.00	\$1,880.00	\$3,000.00	\$3,000.00	\$1,818.51	\$1,818.51	\$5,600.00	\$5,600.00
CONTROLLER UNIT (APS)	1		. ,	. ,	. ,		. ,	. ,				, , , , , , , , , , , , , , , , , , , ,			. ,	. ,		. ,	. ,	. ,						
143 FURNISH & INSTALL DISCONNECT POLE (MOD 2) (120/240) 70	EA	1	\$4,201.38	\$4,201.38	\$6,500.00	\$6,500.00	\$4,125.00	\$4,125.00	\$4,000.00	\$4,000.00	\$3,900.00	\$3,900.00	\$4,300.00	\$4,300.00	\$3,413.00	\$3,413.00	\$4,100.00	\$4,100.00	\$4,300.00	\$4,300.00	\$3,500.00	\$3,500.00	\$4,166.88	\$4,166.88	\$6,200.00	\$6,200.00
(NS) SS (E) SP (U) 144 TRAFFIC SIGNAL CONTROLLER CABINET (GROUND	EA	١,	\$23,071.71	\$23.071.71	\$24.587.91	\$24,587.91	\$27,500.00	\$27,500,00	\$26,000.00	\$26,000.00	\$22,000,00	\$22,000.00	\$24,000.00	\$24,000.00	\$24,127.00	\$24,127.00	\$22,600.00	\$22,600.00	\$23,700,00	\$23,700.00	\$25,000.00	\$25,000.00	\$22,882.24	\$22.882.24	\$12,500.00	\$12,500,00
MOUNTED) HOUSING 3	LA	1	323,071.71	\$23,071.71	324,307.71	324,367.91	\$27,500.00	\$27,500.00	\$20,000.00	\$20,000.00	\$22,000.00	\$22,000.00	324,000.00	\$24,000.00	324,127.00	324,127.00	\$22,000.00	322,000.00	\$23,700.00	\$23,700.00	\$25,000.00	\$25,000.00	\$22,002.24	\$22,002.24	\$12,500.00	312,300.00
145 ATC 2071 HC (ITS) CONTROLLER IN A GROUND MOUNTED	EA	1	\$5,267.91	\$5,267.91	\$6,500.42	\$6,500.42	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$4,900.00	\$4,900.00	\$5,500.00	\$5,500.00	\$2,260.00	\$2,260.00	\$5,200.00	\$5,200.00	\$5,200.00	\$5,200.00	\$2,300.00	\$2,300.00	\$5,224.65	\$5,224.65	\$30,400.00	\$30,400.00
CABINET (HOUSING) AND A CONCRETE FOUNDATION WITH PROPOSED BATTERY BACKUP SYSTEM																										
0.1.77.13	.l			\$173,579,51	1 1	\$363.817.85		\$196.889.70		\$192.867.00		\$163.861.35		6100.462.05	-	\$180.816.00		\$172,162,40		\$173.162.40		\$192.807.50		\$178.402.70	4	\$287.130.35
Sub Total	ή			\$1/3,3/9.51	1 1	3303,817.85		\$196,889.70		\$192,867.00		\$103,801.33		\$190,462.95	1	\$180,816.00		\$1/2,162.40		\$1/5,162.40		\$192,807.50		\$1/8,402.70	1	\$287,130.33
STORMWATER POLLUTION PREVENTION PLAN  146 BLOCK SODDING FOR EROSION CONTROL	037	8,374	\$4.32	\$36,175,68	\$1.15	\$9.630.10	\$3.50	\$29,309.00	\$3.00	\$25,122,00	\$4.60	\$38,520,40	\$6.00	\$50.244.00	\$5.00	\$41.870.00	\$3.55	\$29,727,70	\$3.45	\$28,890,30	\$4.50	\$37,683.00	\$4.82	\$40,362,68	\$4.50	\$37.683.00
146 BLOCK SODDING FOR EROSION CONTROL  147 HYDROMULCH SEEDING FOR EROSION CONTROL AND FINAL	AC.	32	\$4.32 \$1.620.00	\$36,175.68	\$1.15	\$9,630.10	\$3.50 \$1.200.00	\$29,309.00	\$3.00 \$1.500.00	\$25,122.00	\$4.60	\$38,520.40 \$54,400.00	\$6.00	\$50,244.00	\$5.00 \$1.295.00	\$41,870.00	\$3.55 \$1,600.00	\$29,727.70 \$51.200.00	\$3.45	\$28,890.30	\$4.50 \$1.500.00	\$48,000,00	\$4.82 \$1,820.93	\$40,362.68 \$58,269.76	\$4.50	\$37,683.00 \$57,600.00
STABILIZATION	AC	32	31,020.00	331,040.00	\$1,500.00	340,000.00	31,200.00	\$30,400.00	31,500.00	340,000.00	\$1,700.00	354,400.00	\$1,700.00	300,000.00	31,275.00	341,440.00	\$1,000.00	331,200.00	\$1,200.00	\$30,400.00	\$1,500.00	\$40,000.00	\$1,020.73	330,207.70	\$1,000.00	\$57,000.00
148 REINFORCED FILTER FABRIC FENCE (60% OF UNIT COST FOR FURNISH AND INSTALLATION AND 40% OF UNIT COST FOR	LF	7,048	\$2.16	\$15,223.68	\$1.95	\$13,743.60	\$1.75	\$12,334.00	\$0.10	\$704.80	\$1.50	\$10,572.00	\$2.00	\$14,096.00	\$2.40	\$16,915.20	\$3.00	\$21,144.00	\$3.15	\$22,201.20	\$1.25	\$8,810.00	\$1.34	\$9,444.32	\$2.50	\$17,620.00
REMOVAL)					050.00	62.200.00	6110.00	67.0/	616.00		055		6155	610 222 22	6160.00	07.700.00	000.00	65.200.00	045.00	62.050.00	050 ***	62 26	050.01	62.000.00	60	04.001.00
149 INLET PROTECTION BARRIER (STAGE I, WITH REINFORCED FILTER FABRIC FENCE 60% OF UNIT COST FOR FURNISH AND	EA	66	\$54.00	\$3,564.00	\$50.00	\$3,300.00	\$110.00	\$7,260.00	\$10.00	\$660.00	\$55.00	\$3,630.00	\$155.00	\$10,230.00	\$100.00	\$6,600.00	\$80.00	\$5,280.00	\$45.00	\$2,970.00	\$50.00	\$3,300.00	\$58.91	\$3,888.06	\$94.00	\$6,204.00
INSTALLATION AND 40% OF UNIT COST FOR REMOVAL)				1						l																
										l																
150 INLET PROTECTION BARRIER (STAGE II, GRAVEL BAGS, 60%	EA	50	\$27.00	\$1,350.00	\$90.00	\$4,500.00	\$30.00	\$1,500.00	\$10.00	\$500.00	\$40.00	\$2,000.00	\$65.00	\$3,250.00	\$140.00	\$7,000.00	\$68.00	\$3,400.00	\$58.00	\$2,900.00	\$50.00	\$2,500.00	\$42.85	\$2,142.50	\$69.00	\$3,450.00
OF UNIT COST FOR FURNISH AND INSTALLATION AND 40%				1						l																
OF UNIT COST FOR REMOVAL)  151 STABILIZED CONSTRUCTION ACCESS (TYPE-I ROCK, 60% OF	SY	445	\$27.00	\$12,015.00	\$30.00	\$13,350.00	\$18.00	\$8,010.00	\$1.00	\$445.00	\$20.00	\$8,900.00	\$30.00	\$13,350.00	\$16.00	\$7,120.00	\$30.00	\$13,350.00	\$24.50	\$10,902.50	\$10.00	\$4,450.00	\$19.28	\$8,579.60	\$22.00	\$9,790.00
UNIT COST FOR FURNISH AND INSTALLATION AND 40% OF	51	443	\$27.00	\$12,015.00	\$30.00	\$13,330.00	\$18.00	38,010.00	\$1.00	\$445.00	\$20.00	38,900.00	\$30.00	\$15,550.00	\$10.00	\$7,120.00	\$30.00	\$13,330.00	\$24.30	\$10,902.30	\$10.00	\$4,430.00	\$19.28	\$8,379.00	\$22.00	39,790.00
UNIT COST FOR REMOVAL)				1						l																
152 CONCRETE TRUCK WASHOUT STRUCTURES (60% OF UNIT	LS	1	\$540.00	\$540.00	\$6,500.00	\$6,500.00	\$4,600.00	\$4,600.00	\$100.00	\$100.00	\$1,300.00	\$1,300.00	\$1,700.00	\$1,700.00	\$600.00	\$600.00	\$1,075.00	\$1,075.00	\$1,050.00	\$1,050.00	\$500.00	\$500.00	\$16,066.97	\$16,066.97	\$2,300.00	\$2,300.00
COST FOR FURNISH AND INSTALLATION AND 40% OF UNIT	1	1		1						1																
COST FOR REMOVAL)  153 POCK FILTER DAM (TYPE I 60% OF UNIT COST FOR FURNISH	112	320	\$81.00	\$25,920.00	\$90.00	\$28,800.00	\$24.00	\$7,680.00	\$10.00	\$3,200,00	\$70.00	\$22,400.00	\$104.00	\$33,280.00	\$29.00	\$9,280.00	\$35.00	\$11,200.00	\$70.00	\$22,400.00	\$35.00	\$11,200,00	\$74.97	\$23,990,40	\$87.00	\$27,840.00
153 ROCK FILTER DAM (TYPE I, 60% OF UNIT COST FOR FURNISH AND INSTALLATION AND 40% OF UNIT COST FOR REMOVAL)	LF	320	381.00	\$25,920.00	\$90.00	\$28,800.00	\$24.00	\$7,080.00	\$10.00	\$3,200.00	\$70.00	\$22,400.00	\$104.00	\$33,280.00	\$29.00	\$9,280.00	\$33.00	\$11,200.00	\$70.00	\$22,400.00	\$33.00	\$11,200.00	\$/4.9/	\$25,990.40	\$67.00	\$27,840.00
	1	1		1						1																
154 NOI FEES (\$225/EA) - FIXED	EA	2	\$225.00	\$450.00	\$225.00	\$450.00	\$225.00	\$450.00	\$225.00	\$450.00	\$225.00	\$450.00	\$225.00	\$450.00	\$225.00	\$450.00	\$225.00	\$450.00	\$225.00	\$450.00	\$225.00	\$450.00	\$225.00	\$450.00	\$225.00	\$450.00

																								Zachry C	onstruction		
				SER Construction	Partners LLC 1	M2	U, LLC	Angel Broth	ers Enterprises	WadeC	Con, LLC	Lindsey (	Construction	Main Lane l	ndustries, Ltd.	Texas Sterlin	ng Construction	ISI Contr	acting, Inc.	Triple B S	ervices, L.L.P.	R Cons	truction	Corp	oration	Fused Inc	ustries LLC
Item																											
No.	Description	UOM	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
155	SWPPP INSPECTION AND MAINTENANCE (MIN BID \$6,000/MO)	МО	18	\$6,000.00	\$108,000.00	\$6,000.00	\$108,000.00	\$6,000.00	\$108,000.00	\$6,000.00	\$108,000.00	\$6,000.00	\$108,000.00	\$6,000.00	\$108,000.00	\$6,000.00	\$108,000.00	\$6,000.00	\$108,000.00	\$6,000.00	\$108,000.00	\$6,000.00	\$108,000.00	\$6,000.00	\$108,000.00	\$6,000.00	\$108,000.00
	Sub Total	МО			\$255,078,36		\$236,273,70	ł	\$217,543,00		\$187,181.80		\$250,172,40		\$295,400.00		\$239,275,20	1	\$244.826.70		\$238.164.00		\$224.893.00		\$271.194.29		\$270,937.00
	BRIDGE				\$233,076.30	1	3230,273.70	1	3217,545.00		\$107,101.00		3230,172.40		32/3,400.00		3237,213.20	i	3244,020.70		3230,104.00		3224,075.00		32/1,174.27		\$270,737.00
	DRILL SHAFT (24 IN)	LF	960	\$135.60	\$130,176,00	\$92.15	\$88 464 00	\$200.00	\$192,000.00	\$225.00	\$216,000.00	\$185.00	\$177,600,00	\$200.00	\$192,000.00	\$125.00	\$120,000.00	\$130.00	\$124.800.00	\$200.00	\$192,000.00	\$185.00	\$177,600,00	\$183.64	\$176.294.40	\$280.00	\$268.800.00
	CL B1 CONC (ABUTMENT)	CY	36	\$1.586.10	\$57,099,60	\$715.69	\$25.764.84	\$1,600.00	\$57,600.00	\$2,500.00	\$90,000.00	\$1,500.00	\$54,000.00	\$1,300.00	\$46,800.00	\$1.800.00	\$64,800.00	\$1,100.00	\$39,600.00	\$1,635.00	\$58,860.00	\$1,200.00	\$43,200.00	\$1,405.94	\$50,613.84	\$1,200.00	\$43,200.00
	CL B1 CONC (CAP)	CY	22	\$1,776.95	\$39,092,90	\$670.53	\$14.751.66	\$2,400.00	\$52,800.00	\$2,000.00	\$44,000.00	\$2,200.00	\$48,400.00	\$2,400.00	\$52,800.00	\$2,900.00	\$63,800.00	\$990.00	\$21,780.00	\$2,380.00	\$52,360.00	\$1,500.00	\$33,000.00	\$1,910.96	\$42,041.12	\$1,200.00	\$26,400.00
	CL B1 CONC (COL)	CY	13	\$1,948.04	\$25,324.52	\$823.88	\$10,710,44	\$2,300.00	\$29,900.00	\$1,000.00	\$13,000.00	\$2,200.00	\$28,600.00	\$1,600.00	\$20,800.00	\$2,500.00	\$32,500.00	\$1,300,00	\$16,900.00	\$2,300.00	\$29,900.00	\$1,900.00	\$24,700.00	\$3,489,47	\$45,363,11	\$1,000.00	\$13,000.00
	CL A1 CONC (SLAB)	CY	59	\$1,338.27	\$78,957.93	\$593.35	\$35,007.65	\$2,650.00	\$156,350.00	\$1,500.00	\$88,500.00	\$2,500.00	\$147,500.00	\$1,500.00	\$88,500.00	\$2,100.00	\$123,900.00	\$1,100,00	\$64,900.00	\$2,700.00	\$159,300.00	\$2,400.00	\$141,600.00	\$1,697.83	\$100,171.97	\$560.00	\$33,040.00
	CL A1 CONC (9" SIDEWALK)	CY	60	\$971.39	\$58,283,40	\$465.35	\$27,921.00	\$740.00	\$44,400.00	\$400.00	\$24,000.00	\$700.00	\$42,000.00	\$350.00	\$21,000.00	\$450.00	\$27,000.00	\$565.00	\$33,900.00	\$780.00	\$46,800.00	\$930.00	\$55,800.00	\$411.74	\$24,704.40	\$440.00	\$26,400.00
	CL B1 CONC (10" APR SLAB)	SY	240	\$210.82	\$50,596.80	\$195.97	\$47,032.80	\$181.00	\$43,440.00	\$200.00	\$48,000.00	\$170.00	\$40,800.00	\$150.00	\$36,000.00	\$230.00	\$55,200.00	\$126.00	\$30,240.00	\$190.00	\$45,600.00	\$670.00	\$160,800.00	\$170.22	\$40,852.80	\$160.00	\$38,400.00
163	PRESTR CONC SLAB BEAM (4SB12)	LF	460	\$144.48	\$66,460.80	\$145.00	\$66,700.00	\$153.00	\$70,380.00	\$170.00	\$78,200.00	\$150.00	\$69,000.00	\$160.00	\$73,600.00	\$200.00	\$92,000.00	\$145.00	\$66,700.00	\$160.00	\$73,600.00	\$190.00	\$87,400.00	\$188.91	\$86,898.60	\$200.00	\$92,000.00
164	PRESTR CONC SLAB BEAM (5SB12)	LF	306	\$144.48	\$44,210.88	\$161.30	\$49,357.80	\$153.00	\$46,818.00	\$170.00	\$52,020.00	\$150.00	\$45,900.00	\$160.00	\$48,960.00	\$250.00	\$76,500.00	\$155.00	\$47,430.00	\$160.00	\$48,960.00	\$180.00	\$55,080.00	\$179.44	\$54,908.64	\$200.00	\$61,200.00
165	CLEANING AND SEALING JOINTS	LF	248	\$11.82	\$2,931.36	\$1.50	\$372.00	\$59.00	\$14,632.00	\$50.00	\$12,400.00	\$55.00	\$13,640.00	\$40.00	\$9,920.00	\$8.00	\$1,984.00	\$35.00	\$8,680.00	\$58.00	\$14,384.00	\$30.00	\$7,440.00	\$28.17	\$6,986.16	\$50.00	\$12,400.00
166	CONCRETE OVERLAY (1.5 IN) (LATEX MODIFIED CONCRETE)	SY	538	\$28.98	\$15,591.24	\$94.50	\$50,841.00	\$393.00	\$211,434.00	\$60.00	\$32,280.00	\$350.00	\$188,300.00	\$400.00	\$215,200.00	\$280.00	\$150,640.00	\$60.00	\$32,280.00	\$375.00	\$201,750.00	\$90.00	\$48,420.00	\$78.04	\$41,985.52	\$120.00	\$64,560.00
167	STR STEEL (MISC NON-BRIDGE)	LB	952	\$11.46	\$10,909.92	\$10.50	\$9,996.00	\$14.00	\$13,328.00	\$20.00	\$19,040.00	\$14.00	\$13,328,00	\$10.00	\$9,520,00	\$17.00	\$16,184.00	\$9.00	\$8,568.00	\$15.00	\$14,280.00	\$20.00	\$19,040.00	\$13.53	\$12,880.56	\$15.00	\$14.280.00
168	BRIDGE PLAOUE	EA	1	\$1.047.20	\$1.047.20	\$650.00	\$650.00	\$4,400.00	\$4,400.00	\$1,500.00	\$1,500.00	\$2,200.00	\$2,200.00	\$2,400.00	\$2,400.00	\$1,000.00	\$1,000.00	\$1,750.00	\$1,750.00	\$2,132.67	\$2,132,67	\$2,000.00	\$2,000.00	\$1,371.72	\$1,371.72	\$1,300.00	\$1,300.00
169	RAILING COMBINATION)	LF	188	\$176.55	\$33,191.40	\$124.00	\$23,312.00	\$220.00	\$41,360.00	\$200.00	\$37,600.00	\$220.00	\$41,360.00	\$175.00	\$32,900.00	\$200.00	\$37,600.00	\$131.00	\$24,628.00	\$215.00	\$40,420.00	\$290.00	\$54,520.00	\$321.33	\$60,410.04	\$220.00	\$41,360.00
170	HEADER TYPE EXPANSION JOINT	LF	248	\$7.49	\$1,857.52	\$59.73	\$14,813.04	\$215.00	\$53,320.00	\$10.00	\$2,480.00	\$200.00	\$49,600.00	\$60.00	\$14,880.00	\$5.00	\$1,240.00	\$450.00	\$111,600.00	\$210.00	\$52,080.00	\$130.00	\$32,240.00	\$72.35	\$17,942.80	\$170.00	\$42,160.00
171	JOINT SEALANT	CF	31	\$1,496.79	\$46,400.49	\$38.70	\$1,199.70	\$385.00	\$11,935.00	\$10.00	\$310.00	\$355.00	\$11,005.00	\$300.00	\$9,300.00	\$30.00	\$930.00	\$45.00	\$1,395.00	\$375.00	\$11,625.00	\$300.00	\$9,300.00	\$28.92	\$896.52	\$440.00	\$13,640.00
172	CL A CONC (CHANNEL LINING)	CY	76	\$363.31	\$27,611.56	\$684.80	\$52,044.80	\$850.00	\$64,600.00	\$500.00	\$38,000.00	\$800.00	\$60,800.00	\$750.00	\$57,000.00	\$490.00	\$37,240.00	\$535.00	\$40,660.00	\$835.00	\$63,460.00	\$600.00	\$45,600.00	\$600.00	\$45,600.00	\$690.00	\$52,440.00
	Sub Total				\$689,743.52		\$518,938.73	1	\$1,108,697.00		\$797,330.00		\$1,034,033.00		\$931,580.00		\$902,518.00		\$675,811.00		\$1,107,511.67		\$997,740.00		\$809,922.20		\$844,580.00
	EXTRA WORK ITEMS							l																			
173	CONCRETE PAVEMENT (10") (HIGH STRENGTH)	SY	100	\$86.61	\$8,661.00	\$53.10	\$5,310.00	\$133.00	\$13,300.00	\$70.00	\$7,000.00	\$55.00	\$5,500.00	\$60.00	\$6,000.00	\$95.00	\$9,500.00	\$97.00	\$9,700.00	\$225.00	\$22,500.00	\$100.00	\$10,000.00	\$100.00	\$10,000.00	\$110.00	\$11,000.00
174	SEAL SLAB FOR STORM SEWER (6") (MIN. BID \$25/SY)	SY	100	\$27.00	\$2,700.00	\$25.00	\$2,500.00	\$25.00	\$2,500.00	\$25.00	\$2,500.00	\$25.00	\$2,500.00	\$50.00	\$5,000.00	\$30.00	\$3,000.00	\$30.00	\$3,000.00	\$28.00	\$2,800.00	\$25.00	\$2,500.00	\$100.00	\$10,000.00	\$50.00	\$5,000.00
175	CEMENT STABILIZED SAND BASE FOR HIGH STRENGTH	SY	100	\$21.05	\$2,105.00	\$24.00	\$2,400.00	\$20.00	\$2,000.00	\$10.00	\$1,000.00	\$18.00	\$1,800.00	\$13.00	\$1,300.00	\$85.00	\$8,500.00	\$26.00	\$2,600.00	\$23.00	\$2,300.00	\$20.00	\$2,000.00	\$25.00	\$2,500.00	\$50.00	\$5,000.00
	CONCRETE (6" DEPTH)							l																			
	SPECIAL EXCAVATION (MIN. BID \$10/CY)	CY	100	\$11.07	\$1,107.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$20.00	\$2,000.00	\$10.00	\$1,000.00	\$11.00	\$1,100.00	\$10.00	\$1,000.00	\$50.00	\$5,000.00	\$10.00	\$1,000.00
	BORROW (MIND BID \$12/CY)	CY	100	\$16.20	\$1,620.00	\$15.00	\$1,500.00	\$12.00	\$1,200.00	\$15.00	\$1,500.00	\$17.00	\$1,700.00	\$12.00	\$1,200.00	\$30.00	\$3,000.00	\$12.00	\$1,200.00	\$16.50	\$1,650.00	\$12.00	\$1,200.00	\$30.00	\$3,000.00	\$20.00	\$2,000.00
	WELL POINTING (MIN. BID \$25/LF)	LF	100	\$27.00	\$2,700.00	\$25.00	\$2,500.00	\$25.00	\$2,500.00	\$25.00	\$2,500.00	\$45.00	\$4,500.00	\$35.00	\$3,500.00	\$25.00	\$2,500.00	\$100.00	\$10,000.00	\$70.00	\$7,000.00	\$25.00	\$2,500.00	\$550.00	\$55,000.00	\$35.00	\$3,500.00
	CONSTRUCTION SAFETY FENCE	LF	100	\$5.40	\$540.00	\$4.50	\$450.00	\$5.00	\$500.00	\$5.00	\$500.00	\$4.00	\$400.00	\$3.00	\$300.00	\$2.10	\$210.00	\$2.00	\$200.00	\$3.50	\$350.00	\$2.00	\$200.00	\$5.00	\$500.00	\$10.00	\$1,000.00
	OFF-DUTY UNIFORMED PEACE OFFICE - AS DIRECTED BY ENGINEER (MIN. BID \$45/HR)	HR	120	\$48.60	\$5,832.00	\$45.00	\$5,400.00	\$45.00	\$5,400.00	\$50.00	\$6,000.00	\$45.00	\$5,400.00	\$51.00	\$6,120.00	\$45.00	\$5,400.00	\$54.00	\$6,480.00	\$70.00	\$8,400.00	\$45.00	\$5,400.00	\$60.00	\$7,200.00	\$55.00	\$6,600.00
181	OOD FENCING LF 100			\$21.60	\$2,160.00	\$19.92	\$1,992.00	\$33.00	\$3,300.00	\$15.00	\$1,500.00	\$60.00	\$6,000.00	\$50.00	\$5,000.00	\$45.00	\$4,500.00	\$70.00	\$7,000.00	\$18.00	\$1,800.00	\$55.00	\$5,500.00	\$10.00	\$1,000.00	\$45.00	\$4,500.00
182	CHAIN LINK FENCING	100	\$27.00	\$2,700.00	\$27.18	\$2,718.00	\$22.00	\$2,200.00	\$20.00	\$2,000.00	\$38.00	\$3,800.00	\$30.00	\$3,000.00	\$42.00	\$4,200.00	\$40.00	\$4,000.00	\$30.00	\$3,000.00	\$35.00	\$3,500.00	\$25.00	\$2,500.00	\$45.00	\$4,500.00	
183	FOUR STRAND BARBED WIRE FENCE	100	\$10.80	\$1,080.00	\$7.14	\$714.00	\$5.50	\$550.00	\$5.00	\$500.00	\$6.00	\$600.00	\$7.00	\$700.00	\$6.50	\$650.00	\$13.00	\$1,300.00	\$7.00	\$700.00	\$10.00	\$1,000.00	\$8.00	\$800.00	\$20.00	\$2,000.00	
	Sub Total			\$31,205.00	J I	\$26,484.00	J	\$34,450.00	ļ	\$26,000.00		\$33,200.00		\$33,120.00		\$43,460.00	l	\$46,480.00		\$51,600.00		\$34,800.00		\$97,500.00		\$46,100.00	
	Grand Total			\$16,584,850.54		\$16,939,461.54		\$17,646,973.23		\$18,856,997.40		\$18,942,903.32		\$19,099,804.50		\$19,201,360.00	•	\$19,673,156.55	ı	\$19,941,026.20		\$20,678,007.80		\$21,546,737.38		\$21,820,787.54	
	<sup>1</sup> Award Recommendation Low Bid																										